
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

LIMITS AND CONTINUITY

Exercise 1A

1. 

A. 5

B. 

C. 8

D. 16

Answer: B

W h Vid S l i

Lt
x→ − 2

=
x4 + 2x3 + 3x2 + 5x − 2

x5 + 3x4 + 2x3 + 3x2 + 7x + 2

−5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_q1AiKysenakn


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Lt
x→ − 2

=
(1 + x)

2
(1 − x)

2

(1 + x)
3

− (1 − x)
3

1

1/2

2/3

3/2

3. 

A. 

B. 

C. 

Lt
x→ 2

=
x5 − 32

x3 − 8

20/3

3/2

√3/5

https://dl.doubtnut.com/l/_q1AiKysenakn
https://dl.doubtnut.com/l/_7TcTX6voZTH3
https://dl.doubtnut.com/l/_s4RdaGZTm1ux


D. 

Answer: A

Watch Video Solution

8/9

4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 1

=
x− 2 / 3 − 1

x− 3 / 4 − 1

20/3

3/2

√3/5

8/9

https://dl.doubtnut.com/l/_s4RdaGZTm1ux
https://dl.doubtnut.com/l/_GXCOPFjK80QK


5. If  then the equation whose roots

are 1, 1/m is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

f(x) = and Lt
x→ 2

f(x) = m
4 − 7x

3x + 4

(x − 1)2 = 0

(x + 1)2 = 0

x2 − 1 = 0

6. 

A. 0

B. 1

C. 2

Lt
x→ 1

=
(2x − 3)(√x − 1)

2x2 + x − 3

https://dl.doubtnut.com/l/_ZZlD2d9VEGYu
https://dl.doubtnut.com/l/_gpCP7b7tgv0E


D. 

Answer: D

Watch Video Solution

−
1

10

7. Evaluate 

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

Ltx→ 0
√1 + x − 1

x

1/2

8. Lt
x→ 0

=
n√1 + x − 1

x

https://dl.doubtnut.com/l/_gpCP7b7tgv0E
https://dl.doubtnut.com/l/_jOc1HtNNs57K
https://dl.doubtnut.com/l/_aEJ10cZea55d


A. 0

B. n

C. 

D. 

Answer: C

Watch Video Solution

1/n

1/√n

9. 

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
3√x + 8 − 2

x

1/12

−1/12

https://dl.doubtnut.com/l/_aEJ10cZea55d
https://dl.doubtnut.com/l/_vKC7JGUcttlm


10. 

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
√1 + x + x2

x

1/2

11. 

A. 2a

B. 

C. 

Lt
x→ a

=
√(x + a) − √2a

x − a

2√2a

1/2√2a

https://dl.doubtnut.com/l/_vKC7JGUcttlm
https://dl.doubtnut.com/l/_XrCHHCtfhc2k
https://dl.doubtnut.com/l/_QALVzdEO2BVs


D. 

Answer: C

Watch Video Solution

1/√2a

12. 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
√1 + x − √1 − x

x

√2

1/√2

13. Lt
x→ 0

=
√a + x2 − √a − x2

x2

https://dl.doubtnut.com/l/_QALVzdEO2BVs
https://dl.doubtnut.com/l/_bWBV5XnR3eId
https://dl.doubtnut.com/l/_YC3AOqJXycxv


A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

√a

1/√a

14. 

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
√1 + x3 − √1 − x3

x3

1/2

https://dl.doubtnut.com/l/_YC3AOqJXycxv
https://dl.doubtnut.com/l/_Ozki9YiYYPbb


15. 

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
3√1 + x − 3√1 − x

x

1/2

2/3

3/2

16. 

A. 

B. 0

C. 

Lt
x→ 0

=
(1 + x)1 / 4 − (1 − x)1 / 4

x

1/2

−1

https://dl.doubtnut.com/l/_Ozki9YiYYPbb
https://dl.doubtnut.com/l/_ggE1RJwcD1tG
https://dl.doubtnut.com/l/_8v58mJtI5vGK


D. 

Answer: A

Watch Video Solution

−1/2

17. 

A. 4

B. 

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

=
x

√x + 4 − 2

√2

2√2

1

√2

18. Lt
x→ 1

=
x − 1

√x2 + 3 − 2

https://dl.doubtnut.com/l/_8v58mJtI5vGK
https://dl.doubtnut.com/l/_eUeW0AodgWa7
https://dl.doubtnut.com/l/_WVqUI6kdMyFU


A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

−2

−3

19. 

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

=
x

1 − √1 − x

−2

−3

https://dl.doubtnut.com/l/_WVqUI6kdMyFU
https://dl.doubtnut.com/l/_Tqp0Pujd5AZI


20. 

A. 2

B. 3

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
x2

1 − 3√1 − x2

−2

−3

21. 

A. 

B. 4

C. 

Lt
x→ − 1

=
x + 1

2 − √4 + x + x2

1/4

1/2

https://dl.doubtnut.com/l/_Tqp0Pujd5AZI
https://dl.doubtnut.com/l/_aZ0ugL8kaJWY
https://dl.doubtnut.com/l/_RsyOR3AcyuHZ


D. 2

Answer: B

Watch Video Solution

22. 

A. 2

B. 3

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
x

√4 − x − √4 + x

−2

−3

23. Lt
x→ − 8

=
√1 + √1 + x − 2

x − 8

https://dl.doubtnut.com/l/_RsyOR3AcyuHZ
https://dl.doubtnut.com/l/_jRK1lZZKTMLq
https://dl.doubtnut.com/l/_VGosTaIscLKa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

2

1

4

1

24

∞

24. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Lt
x→ a

=
√a + 2x − √3x

√1 + x2 − √1 + x

2

√3

1

√3

−2

3√3

2

3√3

https://dl.doubtnut.com/l/_VGosTaIscLKa
https://dl.doubtnut.com/l/_GXZundlNYfmF


25. 

A. 1

B. 

C. 0

D. 2

Answer: A

Watch Video Solution

Lt
x→ 0

=
√1 − x − √1 − x2

√1 + x2 − √1 + x

−1

26. 

A. 

B. 

C. 

Lt
x→ 0

=
√4 + x − √4 + 3x

x

−1/2

1/2

−3

https://dl.doubtnut.com/l/_GXZundlNYfmF
https://dl.doubtnut.com/l/_nDmvR3kTzBiq
https://dl.doubtnut.com/l/_HCCtYUo2zYgo


D. 0

Answer: A

Watch Video Solution

27. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 1

=
3√x2 − 2 3√x + 1

(x − 1)
2

1/6

1/9

−1/6

−1/9

28. Lt
x→ 2

⎡

⎣
( )

− 1

− ( − )

− 1
⎤

⎦

x3 − 4x

x3 − 8

x + √2x

x − 2

√2

√x − √2

https://dl.doubtnut.com/l/_HCCtYUo2zYgo
https://dl.doubtnut.com/l/_T7qwBMrlbPhU
https://dl.doubtnut.com/l/_xfjdWRORYJRH


A. 

B. 2

C. 1

D. none

Answer: A

Watch Video Solution

1/2

29. 

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

=
5x − sin 5x

x

1/2

https://dl.doubtnut.com/l/_xfjdWRORYJRH
https://dl.doubtnut.com/l/_DSERUgTikK79


30. 

A. ab/c

B. 

C. c/ab

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
5x − sin 5x

x

a2b3 /c4

c4 /a2b3

31. 

A. 0

B. 1

C. 

Lt
x→ 0

=
x tan 7x

sin 3x sin 4x

2/9

https://dl.doubtnut.com/l/_DSERUgTikK79
https://dl.doubtnut.com/l/_X2sRU0niVZMK
https://dl.doubtnut.com/l/_B6ASG5EtMkX4


D. 

Answer: D

Watch Video Solution

7/12

32. 

A. 5

B. 

C. 

D. 5//3`

Answer: B

Watch Video Solution

Lt
x→ 0

=
tan 6x. tan 5x

sin 3x sin 4x

5/2

3/7

33. Lt
x→ 0

=
3 sinx − sin 3x

x3

https://dl.doubtnut.com/l/_B6ASG5EtMkX4
https://dl.doubtnut.com/l/_Kt52iUeJTgan
https://dl.doubtnut.com/l/_S08RxQqdkwxG


A. 4

B. 

C. 8

D. 

Answer: A

Watch Video Solution

−4

−8

34. 

A. 

B. 

C. 4

D. 

Answer: D

Watch Video Solution

Lt
θ→ 0

3 tan θ − tan 3θ

2θ3

1/4

3/4

−4

https://dl.doubtnut.com/l/_S08RxQqdkwxG
https://dl.doubtnut.com/l/_EF5Qt8cT1f5O


35. 

A. 

B. 0

C. a+b

D. a-b

Answer: C

Watch Video Solution

Lt
θ→ 0

=
a sinax − b sin bx

tanax − tan bx

a2 − b2

36. 

A. 0

B. 1

C. 

Lt
x→ 0

=
sin 5x − sin 3x

sin 4x − sin 2x

2/9

https://dl.doubtnut.com/l/_EF5Qt8cT1f5O
https://dl.doubtnut.com/l/_cSqZQ22M5kKk
https://dl.doubtnut.com/l/_9MFqa2wmTsJa


D. 

Answer: B

Watch Video Solution

7/12

37. 

A. 

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

Lt
x→ 0

=
sin 7x − sin 5x + sin 3x − sinx

sin 6x − sin 4x + sin 2x

−1

38. Lt
x→ 0

=
1 − cos x

x

https://dl.doubtnut.com/l/_9MFqa2wmTsJa
https://dl.doubtnut.com/l/_EsfK23mfd8u7
https://dl.doubtnut.com/l/_duPSzLa8iQ8z


A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

1/2

39. 

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
1 − cos x

x2

1/2

https://dl.doubtnut.com/l/_duPSzLa8iQ8z
https://dl.doubtnut.com/l/_R01kEKx6r5lu


40. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
1 − cos x

x sin 2x

1/2

3/2

3/4

1/4

41. 

A. m/n

B. n/m

C. 

Lt
x→ 0

=
1 − cosmx

1 − cos nx

m2 /n2

https://dl.doubtnut.com/l/_R01kEKx6r5lu
https://dl.doubtnut.com/l/_HgKXwkJ4I3hc
https://dl.doubtnut.com/l/_6HMuLxKR0trs


D. 

Answer: C

Watch Video Solution

n2 /m2

42. 

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
cosec x−cot x

x

1/2

43. Lt
x→ 0

=
tanx − sinx

x3

https://dl.doubtnut.com/l/_6HMuLxKR0trs
https://dl.doubtnut.com/l/_fCaQoELA6n1T
https://dl.doubtnut.com/l/_JQdEmXo2c6vL


A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

1/2

44. 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

=
tanx − sinx

x2

1

2

−
1

2

https://dl.doubtnut.com/l/_JQdEmXo2c6vL
https://dl.doubtnut.com/l/_JmkYntGBcBF7


45. 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
cos ax − cos bx

x2

a2 − b2

2

b2 − a2

2

46. 

A. 4

B. 

C. 8

Lt
x→ 0

=
cos 5x − cos 3x

x2

−4

https://dl.doubtnut.com/l/_JmkYntGBcBF7
https://dl.doubtnut.com/l/_Wsfk3uL7MYif
https://dl.doubtnut.com/l/_4ePcp0TvK4Ec


D. 

Answer: D

Watch Video Solution

−8

47. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
cos 7x − cos 9x

cos 3x − cos 7x

5/2

2/5

7/5

4/5

48. Lt
x→ 0

=
1 − 2 cos x + cos 2x

x2

https://dl.doubtnut.com/l/_4ePcp0TvK4Ec
https://dl.doubtnut.com/l/_UWMfob2lEAmR
https://dl.doubtnut.com/l/_YZpPIKLvnn3u


A. 0

B. 1

C. 

D. none

Answer: C

Watch Video Solution

−1

49.  is equal to

A. 1

B. 2

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

)
(1 − cos 2x)(3 + cos x)

x tan 4x

−1/4

1/2

https://dl.doubtnut.com/l/_YZpPIKLvnn3u
https://dl.doubtnut.com/l/_4Z9dkRE0kp89


50. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
1 − cos3 x

x sinx cos x

2/5

3/5

3/2

3/4

51.  is equal to

A. 

B. 

C. 

Lt
x→ 0

sin(π cos2 x)

x2

−π

π

π

2

https://dl.doubtnut.com/l/_4Z9dkRE0kp89
https://dl.doubtnut.com/l/_OZC5OYUqy35e
https://dl.doubtnut.com/l/_ciLWFO7w5wzO


D. 1

Answer: B

Watch Video Solution

52. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Lt
x→ 0

=
tan3 x − sin3 x

x5

5

2

3

2

3

5

2

5

https://dl.doubtnut.com/l/_ciLWFO7w5wzO
https://dl.doubtnut.com/l/_MqgmsV3BmRBz


53. The quadratic equation whose roots are l and m where 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l = lim
θ→ 0

( ) and m = lim
θ→ 0

3 sin θ − 4 sin2 θ

θ

2 tan θ

θ(1 − tan2 θ)

x2 + 5x + 6 = 0

x2 − 5x + 6 = 0

x2 − 5x − 6 = 0

x2 + 5x − 6 = 0

54. 

A. 0

B. 1

C. 

Lt
x→ 0

=
3sinx ∘ − sin 3x ∘

x3

( )
3π

180

https://dl.doubtnut.com/l/_qo1fgnQEGBGx
https://dl.doubtnut.com/l/_ERWJMg5AMMpk


D. 

Answer: D

Watch Video Solution

4. ( )
3π

180

55. 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
1 − cos 2x ∘

x2

( )
2π

180

2. ( )
2π

180

56. lim
x→π / 2

=
cos x

π/2 − x

https://dl.doubtnut.com/l/_ERWJMg5AMMpk
https://dl.doubtnut.com/l/_p0kQCsFE6wAv
https://dl.doubtnut.com/l/_dg3vVfLNCzfc


A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

−1

1/2

57. 

A. 0

B. 

C. 1

D. 

Answer: B

Watch Video Solution

lim
x→π / 2

=
cot x

x − π/2

−1

1/2

https://dl.doubtnut.com/l/_dg3vVfLNCzfc
https://dl.doubtnut.com/l/_HeydamRUOa7P


58. 

A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

lim
x→π / 2

=
(π/2 − x)secx

cosec x

−1

1/2

59. 

A. 0

B. 1

C. 2

lim
x→π / 2

=
secx − tanx

π/2 − x

https://dl.doubtnut.com/l/_HeydamRUOa7P
https://dl.doubtnut.com/l/_xoTJsLfQ8ruj
https://dl.doubtnut.com/l/_6WTHqFOkdkNr


D. 

Answer: B

View Text Solution

1/2

60. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→π / 2

sec 5x cos 7x =

5/7

−5/7

7/5

−7/5

61. lim
x→π / 2

=
cot x − cos x

(π/2 − x)3

https://dl.doubtnut.com/l/_6WTHqFOkdkNr
https://dl.doubtnut.com/l/_hftPcoTOOyhn
https://dl.doubtnut.com/l/_tUIDfaDXQDBK


A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

1/2

62. 

A. 1

B. 

C. 

D. 

Answer: A

Watch Video Solution

lim
θ→π / 2

=
1 − sin2 θ

cos θ(π/2 − θ)

−1

−1/2

1/2

https://dl.doubtnut.com/l/_tUIDfaDXQDBK
https://dl.doubtnut.com/l/_jVZIhEJaTqWE


63. 

A. 

B. 0

C. 

D. 

Answer: C

View Text Solution

lim
θ→π / 2

=
[1 − tan(x/2)][1 − sinx]

[1 + tan(x/2)][π − 2x]3

1/8

1/32

∞

64. 

A. 

B. 

C. 

lim
x→π / 2

=
1 − sin3 x

cos2 x

3/2

2/3

2/5

https://dl.doubtnut.com/l/_jVZIhEJaTqWE
https://dl.doubtnut.com/l/_ShKTlxhOTnnQ
https://dl.doubtnut.com/l/_R8TREqEAPtQU


D. 

Answer: A

Watch Video Solution

−3/2

65. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ 3π / 2

=
cos2 x

1 + sin3 x

3/2

2/3

2/5

−3/2

66. lim
x→ 1

=
tan2 πx

1 + secπx

https://dl.doubtnut.com/l/_R8TREqEAPtQU
https://dl.doubtnut.com/l/_gKCQ0kQHx6p3
https://dl.doubtnut.com/l/_Lq9Y6PEQawYJ


A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

−2

67. 

A. 

B. 

C. 2

D. 0

Answer: A

Watch Video Solution

Lt
x→ 0

=
secx − 1

x2(secx + 1)2

1/8

11/4

https://dl.doubtnut.com/l/_Lq9Y6PEQawYJ
https://dl.doubtnut.com/l/_FTEa1G2GEY87


68. =

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

lim
x→ 1

(1 − x)tan(πx/2)

2/π

3/π

4/π

69. 

A. 1

B. 

C. 

lim
x→ a

=
cosec(x − a)

x − a

−∞

−1

https://dl.doubtnut.com/l/_FTEa1G2GEY87
https://dl.doubtnut.com/l/_BoeCd1oPqt5e
https://dl.doubtnut.com/l/_vnLBuzcrP1QU


D. does not exist

Answer: B

Watch Video Solution

70. 

A. sec a

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ a

=
tanx − tana

sina − sinx

−sec2 a

sec3 a

−sec3 a

71. lim
y→x

=
sin2 y − sin2 x

y − x

https://dl.doubtnut.com/l/_vnLBuzcrP1QU
https://dl.doubtnut.com/l/_4OkEd0yN0toY
https://dl.doubtnut.com/l/_Rp9koq2uo7JR


A. sin 2y

B. sin 2x

C. 

D. 

Answer: B

Watch Video Solution

cos2 y

cos2 x

72. 

A. 

B. 0

C. 1

D. 

Answer: A

Watch Video Solution

lim
x→ 1

=
3 sinπx − sin 3πx

(x − 1)3

−4π3

x3

https://dl.doubtnut.com/l/_Rp9koq2uo7JR
https://dl.doubtnut.com/l/_u74MAG0waPl5


73. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→π / 6

( ) =
3 sinx − √3 cos x

6x − π

√3

1/√3

−√3

−1/√3

74. 

A. 2

B. 

C. 

lim
x→π / 4

=
secx tan(4x − π)

sin(π − 4x)

√2

−√2

https://dl.doubtnut.com/l/_u74MAG0waPl5
https://dl.doubtnut.com/l/_fE7iGoPVzVsY
https://dl.doubtnut.com/l/_NKLBqRLayf50


D. 

Answer: C

Watch Video Solution

2√2

75. 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

lim
x→π / 4

=
1 − cot3 x

2 − cot x − cot3 x

11/4

3/4

1/2

76. lim
x→ − 2

+ lim
x→ ∞

(1 + 1/x2) =
tanπx

x + 2

https://dl.doubtnut.com/l/_NKLBqRLayf50
https://dl.doubtnut.com/l/_fxMHmhz1Aazn
https://dl.doubtnut.com/l/_BFMfE2qkdZ1T


A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

π + 1

π + 3

77. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
1 − cos(1 − cos x)

x4

1/2

1/4

1/8

1/12

https://dl.doubtnut.com/l/_BFMfE2qkdZ1T
https://dl.doubtnut.com/l/_K4xeon7JfK7m


78. Let  be the distinct roots of 

A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

α and β

ax2 + bx + c = 0,  then lim
x→ a

1 − cos(ax2 + bx + c)

(x − α)2

(α − β)2a2

2

− (α − β)2a2

2

(α − β)21
2

79. 

A. 0

B. 

Lt
x→ 0

=
cos2 x − sin2 x − 1

√x2 + 1 − 1

−4

https://dl.doubtnut.com/l/_K4xeon7JfK7m
https://dl.doubtnut.com/l/_104DSHNsvg37
https://dl.doubtnut.com/l/_4XETEZIYYnLe


C. 1

D. 4

Answer: B

Watch Video Solution

80. =

A. 0

B. 

C. 2

D. 1

Answer: D

Watch Video Solution

Lt
x→ 0

√1 + sinx − √1 − sinx

x

−1

https://dl.doubtnut.com/l/_4XETEZIYYnLe
https://dl.doubtnut.com/l/_D1knjOKh3Z02


81. 

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
√1 + tanx − √1 − tanx

sinx

1/2

82. 

A. 0

B. 1

C. 2

D. 

Lt
x→ 0

=
√1 + sinx + sin2 x − 1

x

1/2

https://dl.doubtnut.com/l/_aJRWgW9EXpXy
https://dl.doubtnut.com/l/_Nt6WUhD71dJD


Answer: D

Watch Video Solution

83. 

A. 0

B. 1

C. 

D. 

Answer: B

View Text Solution

lim
x→π / 2

) =
√1 + cos3 x − √1 − cos3 x

(π/2 − x)3

π/2

π/4

84. 

A. 

lim
x→π / 2

=
√1 − sinx

(π/2 − x)√1 + sinx

1/2

https://dl.doubtnut.com/l/_Nt6WUhD71dJD
https://dl.doubtnut.com/l/_2FLPfSPmglH8
https://dl.doubtnut.com/l/_yhy5uSCICHTz


B. 

C. 0

D. 

Answer: A

View Text Solution

π/2

−1/2

85. 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
sin− 1 x

x

−1

1/2

https://dl.doubtnut.com/l/_yhy5uSCICHTz
https://dl.doubtnut.com/l/_A1bgqLlTQAuP
https://dl.doubtnut.com/l/_yfNK1nBxOz9h


86. 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
tan− 1 x

x

−1

1/2

87. 

A. 2

B. 1

C. 

D. 

Lt
x→ 0

=
sin− 1 x − tan− 1

x

−1

1/2

https://dl.doubtnut.com/l/_yfNK1nBxOz9h
https://dl.doubtnut.com/l/_DNJMVSLUGnV5


Answer: D

View Text Solution

88. 

A. 

B. 

C. 1//sqrtx`

D. none

Answer: B

View Text Solution

lim
x→ − 1

=
√x − √cos − 1 x

√x + 1

1/√2

1/√2x

89. 

A. 

Lt
x→ 0

3√1 + tan− 1 3x −
3√1 − sin− 1 3x

√1 − sin− 2 2x − √1 + tan− 1 2x

−1

https://dl.doubtnut.com/l/_DNJMVSLUGnV5
https://dl.doubtnut.com/l/_xYQyIZsFPFDK
https://dl.doubtnut.com/l/_KQyu4AqfwsDC


B. 0

C. 1

D. 2

Answer: A

View Text Solution

90. 

A. 0

B. 1

C. a-b

D. none

Answer: C

Watch Video Solution

Lt
x→ 0

=
sin− 1 ax − sin− 1 bx

x

https://dl.doubtnut.com/l/_KQyu4AqfwsDC
https://dl.doubtnut.com/l/_fiWOxGpvzZI7
https://dl.doubtnut.com/l/_c2KqZlqgcDLa


91. 

A. 1

B. 

C. 

D. 2

Answer: C

Watch Video Solution

Lt
x→ 0

=
x(1 − √1 − x2)

√1 − x2. (sin− 1 x)
3

−1

1/2

92. 

A. 0

B. 

C. 

D. 1

Lt
x→ 0

=
sinhx

x

∞

−∞

https://dl.doubtnut.com/l/_c2KqZlqgcDLa
https://dl.doubtnut.com/l/_z0UMMCeG5lUt


Answer: D

Watch Video Solution

93. 

A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

Lt
x→ 0

=
tanhx

x

∞

−∞

94. 

A. 1

Lt
x→ 0

=
5√2 + x − 5√2 − x

sinhx

https://dl.doubtnut.com/l/_z0UMMCeG5lUt
https://dl.doubtnut.com/l/_1mbrVPgG7LDN
https://dl.doubtnut.com/l/_I2kWHJiOkph6


B. 

C. 

D. 

Answer: D

Watch Video Solution

5√2

√5/2

5√2/5

95. 

A. 1

B. 0

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ 1

=
1 + logx − x

1 − 2x + x2

−1

−1/2

https://dl.doubtnut.com/l/_I2kWHJiOkph6
https://dl.doubtnut.com/l/_HwQtBat5akQM
https://dl.doubtnut.com/l/_X49NCrsfirLj


96. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lim
x→ 1

{ − } =
1

x − 1

2

x2 − 1

1/2

1/8

7/2

1/32

97. 

A. 

B. 

C. 

D. 

lim
x→ 1

{ − } =
1

x − 1

1

x + 3

2

3x + 5

1/2

1/8

7/2

1/32

https://dl.doubtnut.com/l/_X49NCrsfirLj
https://dl.doubtnut.com/l/_kmmsntKiEkRJ


Answer: D

Watch Video Solution

98. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ 2

{ − } =
1

x2 + x − 6

1

2x2 − 3x − 2

1/15

1/25

1/30

1/40

99. 

A. 

lim
x→ 1 / 2

{ − } =
8x − 3

2x − 1

4x2 + 1

4x2 − 1

1/2

https://dl.doubtnut.com/l/_kmmsntKiEkRJ
https://dl.doubtnut.com/l/_h9eqBUugDdkk
https://dl.doubtnut.com/l/_FtYlpIJxd4zT


B. 

C. 

D. 

Answer: C

Watch Video Solution

1/8

7/2

1/32

100. 

A. 

B. 0

C. 

D. 

Answer: A

View Text Solution

Lt
x→ 0

− =
1

sin2 x

1

sinh2 x

2/3

1/3

−2/3

https://dl.doubtnut.com/l/_FtYlpIJxd4zT
https://dl.doubtnut.com/l/_8z89AVWwNeKd
https://dl.doubtnut.com/l/_d3Cpd30iYmzi


101. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ ∞

=
(x + 1)(2x + 3)

(x + 2)(3x + 4)

7/2

−5/4

2/3

2/7

102. 

A. 0

B. 

C. 1

D. a

lim
x→ ∞

=
(x + 1)(2x + 3)

(x + 2)(3x + 4)

∞

https://dl.doubtnut.com/l/_d3Cpd30iYmzi
https://dl.doubtnut.com/l/_LiZpP01ZkJVu


Answer: C

Watch Video Solution

103. 

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

lim
x→ ∞

=
2x + 7

x2 + 5x + 4

1/2

104. 

A. 

lim
x→ ∞

=
3x2 + 5x + 2

2x2 − 3x + 1

2/3

https://dl.doubtnut.com/l/_LiZpP01ZkJVu
https://dl.doubtnut.com/l/_NuIba08rpZ2H
https://dl.doubtnut.com/l/_r4o0YFGnmmw2


B. 

C. 3

D. 

Answer: B

Watch Video Solution

3/2

1/2

105. 

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ ∞

=
3x3 + x2 − 1

x2 − x + 7

∞

−∞

https://dl.doubtnut.com/l/_r4o0YFGnmmw2
https://dl.doubtnut.com/l/_BlGHQn18TdjG
https://dl.doubtnut.com/l/_VPHmitoJ2sk4


106. 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

=
−x3 + 8

2x2 + 5x + 7

∞

−∞

107. 

A. 

B. 

C. 

D. 

lim
x→ ∞

=
∣∣3x2 + 1∣∣

2x2 + 1

3/2

2/3

−3/2

−2/3

https://dl.doubtnut.com/l/_VPHmitoJ2sk4
https://dl.doubtnut.com/l/_ShOoTYImma0L


Answer: A

Watch Video Solution

108. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ ∞

=
√3x2 + 5

5x + 3

20/3

3/2

√3/5

8/9

109. 

A. 0

lim
x→ 0

2(√x) =

https://dl.doubtnut.com/l/_ShOoTYImma0L
https://dl.doubtnut.com/l/_YTIGZs0VDrsF
https://dl.doubtnut.com/l/_Q6edafG2H1WO


B. 

C. 

D. 1\(sqrt2)

Answer: A

Watch Video Solution

∞

1/2

110. 

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

lim
x→ ∞

√1 + 25x2 + √9x2 − 1

√1 + 25x2 − √9x2 − 1

https://dl.doubtnut.com/l/_Q6edafG2H1WO
https://dl.doubtnut.com/l/_835NQwnK1XNe


111. 

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

lim
x→ ∞

=
√1 + 9x2 + √x2 − 1

√1 + 9x2 − √x2 − 1

112. 

A. 0

B. 1

C. 

D. 

lim
x→ ∞

) =
√x2 + 1 − 3√x2 + 1

4√x4 + 1 − 5√x4 + 1

1/2

1/4

https://dl.doubtnut.com/l/_BNwmgE9gXYku
https://dl.doubtnut.com/l/_GkUrw1soDXcb


Answer: B

Watch Video Solution

113. 

A. 0

B. 1

C. 

D. 10

Answer: D

Watch Video Solution

lim
x→ ∞

= ...
(x + 1)

10
+ (x + 2)

10
+ ... + (x + 10)

10

x10 + 1010

−1

114. 

A. 0

lim
x→ ∞

( − ) =
x3

3x2 − 1

x2

3x + 1

https://dl.doubtnut.com/l/_GkUrw1soDXcb
https://dl.doubtnut.com/l/_Se9hifWqWTm4
https://dl.doubtnut.com/l/_3FyaWNQP6mct


B. 

C. 

D. none

Answer: B

Watch Video Solution

1/9

∞

115. =

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ ∞

{√x2 + ax + b − x}

a

a/2

−a/2

https://dl.doubtnut.com/l/_3FyaWNQP6mct
https://dl.doubtnut.com/l/_1YPdQaZPDf9r
https://dl.doubtnut.com/l/_kiXVKfau7sQZ


116. 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

{x − √x2 + x} =

1/2

−1/2

117. 

A. 1

B. 

C. c

D. 

lim
x→ ∞

√x(√x + c − √x) =

∞

c/2

https://dl.doubtnut.com/l/_kiXVKfau7sQZ
https://dl.doubtnut.com/l/_yCpr9TsFZOx2


Answer: D

Watch Video Solution

118. 

A. 1

B. 

C. 0

D. none

Answer: A

Watch Video Solution

lim
x→ ∞

x3 / 2(√x3 + 1 − √x3 − 1) =

−1

119. 

A. 

lim
x→ ∞

[√x2 + 2x − 1 − x] =

∞

https://dl.doubtnut.com/l/_yCpr9TsFZOx2
https://dl.doubtnut.com/l/_9WqT7jolarIj
https://dl.doubtnut.com/l/_kc7I1NXNWDvf


B. 

C. 4

D. 1

Answer: D

Watch Video Solution

1/2

120. If 

A. 2

B. 0

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ ∞

(√x2 − ax − x) =  then a=
1

2

−1

1/2

https://dl.doubtnut.com/l/_kc7I1NXNWDvf
https://dl.doubtnut.com/l/_oqul4ozZJuuI
https://dl.doubtnut.com/l/_PG0CTzGOqyz7


121. The values of constants a so that 

are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

( − ax − b) = 0
x2 + 1

x + 1

2

−2

0

1

122. 

A. 0

B. 1

C. 

D. 

lim
x→ ∞

{sin √x + 1 − sin √x) =

1/2

−1/2

https://dl.doubtnut.com/l/_PG0CTzGOqyz7
https://dl.doubtnut.com/l/_SEwH43bjR4l1


Answer: C

Watch Video Solution

123. 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

lim
x→ ∞

{√x2 + 1 − √x2 − 1} =

1/2

−1/2

124. 

A. 2

lim
n→ ∞

(√n4 + 1 − √n4 − 1) =

https://dl.doubtnut.com/l/_SEwH43bjR4l1
https://dl.doubtnut.com/l/_gFiMoI86QLc4
https://dl.doubtnut.com/l/_pn3VrL8AlTS6


B. 0

C. 

D. none

Answer: B

Watch Video Solution

1/2

125. 

A. 0

B. 

C. log 2

D. 

Answer: B

Watch Video Solution

lim
x→ ∞

[√x + √x + √x − √x] =

1/2

e4

https://dl.doubtnut.com/l/_pn3VrL8AlTS6
https://dl.doubtnut.com/l/_vt9QI01k6Lbv
https://dl.doubtnut.com/l/_V2wLEAs444mW


126. 

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

=
1 + 2 + 3 + ... + n

n2

1/2

1/3

1/4

127. 

A. 1

B. 

C. 

D. 

lim
n→ ∞

=
12 + 22 + 32 + ... + n2

n3

1/2

1/3

1/4

https://dl.doubtnut.com/l/_V2wLEAs444mW
https://dl.doubtnut.com/l/_yyv3wuWT9K8E


Answer: C

Watch Video Solution

128. 

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
n→ ∞

=
13 + 23 + 33 + ... + n3

n4

1/2

1/3

1/4

129. 

A. 1

lim
n→ ∞

1 + 3 + 5 + .... + (2n − 1)

2 + 4 + 6 + . .2n

https://dl.doubtnut.com/l/_yyv3wuWT9K8E
https://dl.doubtnut.com/l/_2gcrF9kFmY7w
https://dl.doubtnut.com/l/_BvvWivcEnuas


B. 

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/3

1/4

130. 

A. x

B. x/2

C. x/3

D. x/4

Answer: C

Watch Video Solution

lim
n→ ∞

n

∑
k= 1

[k2x] =
1

n3

https://dl.doubtnut.com/l/_BvvWivcEnuas
https://dl.doubtnut.com/l/_dpMl5B5S2LXO


131. 

A. 

B. 16//27`

C. 

D. 

Answer: A

Watch Video Solution

lim
n→ ∞

=
n(13 + 23 + ... + n3)

2

(12 + 22 + ... + n2)
3

27/16

9/4

4/9

132. 

A. 

B. 

C. 1

D. 0

lim
n→ ∞

=
(1 + 2 + .... + n terms)(12 + 22 + ... + n terms)

n(13 + 23 + ... + n terms)

3/2

2/3

https://dl.doubtnut.com/l/_uT4ntrjsDicq
https://dl.doubtnut.com/l/_izA4vVlAcfLB


Answer: B

Watch Video Solution

133. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

lim
n→ ∞

=
1 + 3 + 6 + ... + n(n + 1) /2

n3

1/2

1/3

1/6

1/8

134. 

A. 

lim
n→ ∞

[12 + (12 + 22) + .... + (12 + 22 + ... + n2] =
1

n4

1/6

https://dl.doubtnut.com/l/_izA4vVlAcfLB
https://dl.doubtnut.com/l/_2vHdGtQVGC5X
https://dl.doubtnut.com/l/_DrBFlrevWlpw


B. 

C. 

D. 0

Answer: C

Watch Video Solution

1/16

1/12

135. 

A. 1

B. 

C. 

D. 3

Answer: A

Watch Video Solution

lim
n→ ∞

{ + + + ... + } =
1

2

1

22

1

23

1

2n

1/2

1/3

https://dl.doubtnut.com/l/_DrBFlrevWlpw
https://dl.doubtnut.com/l/_gollJE9EF3Md
https://dl.doubtnut.com/l/_GKe66knHr19o


136. If 

A. 0

B. 

C. 

D. none

Answer: C

Watch Video Solution

0 < r < 1  then Lt
n→ ∞

(a + ar + ... + arn− 1) =

1

1 − r

a

1 − r

137. 

A. 0

B. 

C. 

D. none

lim
n→ ∞

=
1 + 3 + 32 + ...3n

1 + 2 + 22 + ... + 2n

3/2

∞

https://dl.doubtnut.com/l/_GKe66knHr19o
https://dl.doubtnut.com/l/_dz3GBRDQDZqC


Answer: C

Watch Video Solution

138.  if

A. a=b

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

= 0
1 + a + a2 + .... . + an− 1

1 + b + b2 + ... + bn− 1

a < b, b > 1

a > b, a > 1

1 < a < b

139. 

A. 0

lim
n→ ∞

{ + + + ... + } =
1

1.2

1

2.3

1

3.4

1

n(n + 1)

https://dl.doubtnut.com/l/_dz3GBRDQDZqC
https://dl.doubtnut.com/l/_jEuN4L0RpF67
https://dl.doubtnut.com/l/_keGTSoPHg7CO


B. 1

C. 

D. 

Answer: B

Watch Video Solution

−1

1/2

140. 

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

{ + + + .... . + } =
1

1.3

1

3.5

1

5.7

1

(2n − 1)(2n + 1)

1/2

1/13

1/6

https://dl.doubtnut.com/l/_keGTSoPHg7CO
https://dl.doubtnut.com/l/_J8dI3Bcxqfwe
https://dl.doubtnut.com/l/_jbyOibWHrUry


141. 

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

lim
n→ ∞

{ + + + .... + } =
1

1.4

1

4.7

1

7.10

1

(3n − 2)(3n + 1)

1/2

1/3

1/6

142. 

A. 0

B. 

C. 1

D. none

lim
n→ ∞

=
1.1! + 2.2! + 3.3! + ... + n. n !

(n + 1) !

∞

https://dl.doubtnut.com/l/_jbyOibWHrUry
https://dl.doubtnut.com/l/_jxPZiuYxQv20


Answer: C

Watch Video Solution

143. 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

=
2n − n

2n

−∞

∞

144. 

A. 0

lim
n→ ∞

=
2n − 1

3n + 1

https://dl.doubtnut.com/l/_jxPZiuYxQv20
https://dl.doubtnut.com/l/_opGRg05NIIEZ
https://dl.doubtnut.com/l/_uYkZPb91afml


B. 1

C. 

D. 

Answer: A

Watch Video Solution

−∞

∞

145. 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

lim
n→ ∞

=
5n + 1

3n − 1

−∞

∞

https://dl.doubtnut.com/l/_uYkZPb91afml
https://dl.doubtnut.com/l/_MgNxXaVETjkI
https://dl.doubtnut.com/l/_Tblx4VLYwIyk


146. 

A. `3

B. 

C. 1

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

=
3x+ 1 + 4

3x+ 2 + 4

1/3

∞

147. 

A. 

B. 

C. 

D. 

lim
n→ ∞

=
21 /n − 1

21 /n + 1

6/5

2/7

−2/7

−6/7

https://dl.doubtnut.com/l/_Tblx4VLYwIyk
https://dl.doubtnut.com/l/_vxfoP9eA8Ko4


Answer: D

Watch Video Solution

148. 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

lim
n→ ∞

=
21 /n − 1

21 /n + 1

−1

1/2

149. If 

A. e

a > 1,  then Lt
x→ ∞

=
ax − a−x

ax + a−x

https://dl.doubtnut.com/l/_vxfoP9eA8Ko4
https://dl.doubtnut.com/l/_rENzD79AU08j
https://dl.doubtnut.com/l/_Xd0CiiVIsHzS


B. a

C. 1

D. 0

Answer: C

Watch Video Solution

150. If 

A. `-1

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

a > 1, then =
ax − x−x

ax + a−x

∞

https://dl.doubtnut.com/l/_Xd0CiiVIsHzS
https://dl.doubtnut.com/l/_BWSjc8iSwAaz
https://dl.doubtnut.com/l/_VOeSisx4gU9Q


151. 

A. 1

B. 0

C. 

D. none

Answer: B

Watch Video Solution

lim
n→ ∞

=
nPn

n+ 1Pn+ 1 − nPn

−1

152. If 

A. 

B. 

C. 0

D. 1-x

|x| < 1  thn Lt 
n→ ∞

(1 + x)(1 + x2)(1 + x4).... (1 + x2n) =

1/(x − 1)

1/(1 − x)

https://dl.doubtnut.com/l/_VOeSisx4gU9Q
https://dl.doubtnut.com/l/_h7MN7D6gEPMu


Answer: B

Watch Video Solution

153. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Lt 
x→ ∞

=
3√x + logx − sin2 x

5√x + 6 cos2 x − 100 logx

1/3

3/5

−5/3

−3/5

154. 

A. `-1

Lt 
x→ 1

=
log(1 − x)

cot πx

https://dl.doubtnut.com/l/_h7MN7D6gEPMu
https://dl.doubtnut.com/l/_KEg3JEMfaNWb
https://dl.doubtnut.com/l/_6hcCj52WqlUd


B. 0

C. 1

D. 2

Answer: B

Watch Video Solution

155. 

A. 0

B. 5

C. log 5

D. a

Answer: D

Watch Video Solution

Lt 
x→ ∞

5x sin( ) =
a

5x

https://dl.doubtnut.com/l/_6hcCj52WqlUd
https://dl.doubtnut.com/l/_YvcHXOCFRTdr
https://dl.doubtnut.com/l/_9WnwrSbS6sex


156. 

A. sin 2

B. cos 2

C. 2 sin 2 +cos 2

D. 2 cos 2 +sin 2

Answer: D

Watch Video Solution

Lt
x→ 0

=
(2 + x)sin(2 + x) − 2 sin 2

x

157. 

A. sin a

B. 

C. cos a

D. 

Lt
x→ 0

=
sin(x + a) + sin(a − x) − 2 sina

x sinx

−sina

−cos a

https://dl.doubtnut.com/l/_9WnwrSbS6sex
https://dl.doubtnut.com/l/_z3h4USKmjV0P


Answer: B

Watch Video Solution

158. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

=
sin(x + a) + sin(a − x) − 2 sina

x sinx

a(a cos a + 2 sina)

a(a cos a − 2 sina)

(a cos a + 2 sina)

(a cos a − 2 sina)

159. If 

A. (0,3/2)

Lt
x→ 0

= 1  then (a, b) =
x(1 + a cos x) − b sinx

x3

https://dl.doubtnut.com/l/_z3h4USKmjV0P
https://dl.doubtnut.com/l/_VmBrNz1v5kIC
https://dl.doubtnut.com/l/_Hz7lNsdRoz1S


B. (1,2/3)

C. (5/2,-2/3)

D. (-5/2,-3/2)

Answer: D

Watch Video Solution

160. If  is finite, then the value of a, b are

respectiveluy.

A. 5,-4

B. 

C. 

D. 4,5

Answer: C

Watch Video Solution

Lt
x→ 0

( )
cos 4x + a cos 2x + b

x4

−5, − 4

−4, 3

https://dl.doubtnut.com/l/_Hz7lNsdRoz1S
https://dl.doubtnut.com/l/_ScQh4wsmvGG9


161. 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

Lt
x→ 1

=
x + x2 + ... + xn − n

x − 1

n(n + 1)

2

n(n + 1)(2n + 1)

6

n2(n + 1)2

4

162. 

A. 1

B. 2

C. 3

Lt
x→ 0

log(1 + x) =
2

x

https://dl.doubtnut.com/l/_ScQh4wsmvGG9
https://dl.doubtnut.com/l/_IZNEewuwZZr3
https://dl.doubtnut.com/l/_7jpuf0nXfRDX


D. 4

Answer: B

Watch Video Solution

163. 

A. 

B. 0

C. 1

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
loge(1 + x)

3x − 1

loge 3

log3 e

164. Lt
x→ 0

{ − } =
1

x

log(1 + x)

x2

https://dl.doubtnut.com/l/_7jpuf0nXfRDX
https://dl.doubtnut.com/l/_dpxPNwT9lsHH
https://dl.doubtnut.com/l/_nHZz60Gofn4u


A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

1/2

−1/2

165. 

A. 

B. 0

C. 1

D. none

Answer: A

Watch Video Solution

Lt
x→ 0

=
x cos − log(1 + x)

x2

1/2

https://dl.doubtnut.com/l/_nHZz60Gofn4u
https://dl.doubtnut.com/l/_JJc1mxr8KQHG


166. 

A. 2

B. 

C. 4

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

( − ) =
1

logx

x

x − 1

−2

−1/2

167. 

A. 

B. 2

C. 

Lt
x→ 0

( − ) =
1

x

1

ex − 1

1/2

1/3

https://dl.doubtnut.com/l/_JJc1mxr8KQHG
https://dl.doubtnut.com/l/_Dk35ksJj3r47
https://dl.doubtnut.com/l/_hscpYmUioUud


D. 3

Answer: A

Watch Video Solution

168. 

A. 0

B. 

C. 1

D. e

Answer: C

Watch Video Solution

Lt
x→ ∞

x[, log(x + 1) − logx] =

−1

169. Lt
x→ o

log
∣
∣
∣

∣
∣
∣

=
log(1 + x)

x

https://dl.doubtnut.com/l/_hscpYmUioUud
https://dl.doubtnut.com/l/_ENeQph2vCjEc
https://dl.doubtnut.com/l/_JfqhkfwYCNLH


A. 0

B. 1

C. e

D. 

Answer: A

Watch Video Solution

1/e

170. If  then k=

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ o

= k
log(3 + x) − log(3 − x)

x

−1/3

2/3

−2/3

https://dl.doubtnut.com/l/_JfqhkfwYCNLH
https://dl.doubtnut.com/l/_KAAhhhOKxK7Y


171. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ o

=
sinx − x

x3

1/6

−1/6

1/5

−1/5

172. 

A. 0

B. 1

C. 

Lt
x→ o

{cosec x − }
1

x

−1

https://dl.doubtnut.com/l/_KAAhhhOKxK7Y
https://dl.doubtnut.com/l/_z7ct851j9EQH
https://dl.doubtnut.com/l/_FB85MPEO1yRu


D. 2

Answer: A

Watch Video Solution

173. 

A. 

B. `2//360

C. 

D. 

Answer: C

View Text Solution

Lt
x→ o

=
cosec x− −1

x
x

6

x3

3/360

7/360

11/360

174. Lt
x→ o

=
cosec x− −1

x
x

6

x3

https://dl.doubtnut.com/l/_FB85MPEO1yRu
https://dl.doubtnut.com/l/_lkySCeKBXFvu
https://dl.doubtnut.com/l/_x2IkD1xYSuHK


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1/120

1/110

1/100

1/90

175. 

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

Lt
y→x

=
yy − xx

y − x

xyx− 1

xx

xx(1 + logx)

https://dl.doubtnut.com/l/_x2IkD1xYSuHK
https://dl.doubtnut.com/l/_5z3T4VO8YqR2


176. If 

A. 0

B. 1

C. 3

D. 2e

Answer: B

Watch Video Solution

a > 0 and Lt 
x→ a

= − 1  then a =
ax − xa

xx − aa

177. 

A. 0

B. 1

C. 

Lt
x→ − ∞

ex =

−∞

https://dl.doubtnut.com/l/_5z3T4VO8YqR2
https://dl.doubtnut.com/l/_VlULXONyOaVv
https://dl.doubtnut.com/l/_Sm2YT9VFzKzm


D. 

Answer: A

Watch Video Solution

∞

178. 

A. e

B. m

C. 

D. m log a

Answer: B

Watch Video Solution

Lt
x→ 0

=
emx − 1

x

em

179. Lt
y→ 0

=
ax − 1

bx − 1

https://dl.doubtnut.com/l/_Sm2YT9VFzKzm
https://dl.doubtnut.com/l/_2sZuBbVvnSj6
https://dl.doubtnut.com/l/_3U6tftg3u445


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

loga

log b

log
a

b

log(a − b)

logab

180. 

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

=
ax − bx

x

log( )
a

b

loga

log b

https://dl.doubtnut.com/l/_3U6tftg3u445
https://dl.doubtnut.com/l/_N1qBW38u3d7R


181. 

A. 1

B. a

C. 2 log a

D. log a

Answer: D

Watch Video Solution

Lt
x→ 0

=
atan x − 1

x

182. 

A. 1

B. e

C. 

Lt
x→ 0

=
esin x − 1

x

e− 1

https://dl.doubtnut.com/l/_N1qBW38u3d7R
https://dl.doubtnut.com/l/_p3ZqUL13sBfl
https://dl.doubtnut.com/l/_a22UnMAbuNlo


D. 0

Answer: A

Watch Video Solution

183. 

A. 1

B. e

C. 

D. 0

Answer: A

Watch Video Solution

Lt
x→ 0

=
etan x − 1

sinx

e− 1

184. (x 2^(x)-x)/(1-cos x)=`Lt
x→ 0

https://dl.doubtnut.com/l/_a22UnMAbuNlo
https://dl.doubtnut.com/l/_qOKTDDDAgJIF
https://dl.doubtnut.com/l/_rRYGKSmuXX9u


A. 0

B. 1

C. log 2

D. log 4

Answer: D

Watch Video Solution

185. 

A. log 10

B. 2 log 10

C. 3 log 10

D. 4 log 10

Answer: B

Watch Video Solution

Lt
x→ 0

=
x. 10x − x

1 − cos x

https://dl.doubtnut.com/l/_rRYGKSmuXX9u
https://dl.doubtnut.com/l/_Nd326AHS5EJA


186. 

A. 0

B. 1

C. log 2

D. log 4

Answer: D

Watch Video Solution

Lt
x→ 0

=
2x − 1

(√1 + x − 1)

187. 

A. 

B. 

C. log a

Lt
x→ 0

=
ax − 1

√a + x − √a

2√a loga

√a loga

https://dl.doubtnut.com/l/_Nd326AHS5EJA
https://dl.doubtnut.com/l/_plXrLjGqCnMU
https://dl.doubtnut.com/l/_5xcHVIG1AhDS


D. none

Answer: A

Watch Video Solution

188. 

A. log 9

B. 

C. log 3

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
√1 + x2 − √1 − x + x2

3x − 1

1

log 9

1

log 3

189. Lt
x→ 0

=
5x + 3x − 2x − 1

x

https://dl.doubtnut.com/l/_5xcHVIG1AhDS
https://dl.doubtnut.com/l/_JUFy4ZMSC3BH
https://dl.doubtnut.com/l/_OjvoePFqgG8g


A. 5

B. 1

C. log 20

D. log 15/2

Answer: D

Watch Video Solution

190. 

A. log a log b

B. log (ab)

C. log a/b

D. log b/a

Answer: A

Watch Video Solution

Lt
x→ 0

=
(ab)x − ax − bx + 1

x2

https://dl.doubtnut.com/l/_OjvoePFqgG8g
https://dl.doubtnut.com/l/_ajorjRFMOuVx


191. 

A. log 5

B. log 2

C. log 5.log 2

D. log 5/log 2

Answer: C

Watch Video Solution

Lt
x→ 0

=
10x − 2x − 5x + 1

x2

192. 

A. ab

B. a+b

C. 

Lt
x→ 0

( )
1 /x

=
ax + bx

2

√ab

https://dl.doubtnut.com/l/_ajorjRFMOuVx
https://dl.doubtnut.com/l/_MTn8tlagmBK6
https://dl.doubtnut.com/l/_60qQS8NhzRVL


D. none

Answer: C

Watch Video Solution

193. 

A. 25/2

B. 12

C. 1

D. 0

Answer: B

Watch Video Solution

Lt
x→ 0

( )
1 /x

=
16x + 9x

2

194.  where a,b,c are real and nonzero=Lt
x→ ∞

[ ]

x

,
a1 /x + b1 /x + c1 /x

3

https://dl.doubtnut.com/l/_60qQS8NhzRVL
https://dl.doubtnut.com/l/_7gLBruuzUtUY
https://dl.doubtnut.com/l/_aYMDoChFMUD9


A. 0

B. 

C. 

D. abc/3

Answer: B

Watch Video Solution

(abc)1 / 3

(abc) − 1 / 3

195. The value of  is

A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

Lt
x→ 0

⎛

⎝

⎞

⎠

nx

⎞

⎠

a
1 /x
1 + a

1 /x
2 + .... . + a

1 /x
n

n

a1 + a2 + ... + an

ea1 +a2 + ... +an

a1 + a2 + ... + an

n

a1a2.... an

https://dl.doubtnut.com/l/_aYMDoChFMUD9
https://dl.doubtnut.com/l/_pM3eTvgAcz3X


Watch Video Solution

196. 

A. 

B. 

C. n!

D. ln (n!)

Answer: B

Watch Video Solution

Lt
x→ 0

( )
1 /x

)
1x + 2x + 3x + .... + nx

n

(n !)n

(n !)1 /n

197. 

A. 0

B. 1

C. 

Lt
x→ 0

=
ex

2
− cos x

x2

1/2

https://dl.doubtnut.com/l/_pM3eTvgAcz3X
https://dl.doubtnut.com/l/_P3HQj7V5TYIi
https://dl.doubtnut.com/l/_G8St5V38sSKj


D. 

Answer: D

Watch Video Solution

3/2

198. 

A. 

B. 0

C. 1

D. 2

Answer: A

Watch Video Solution

Lt
x→ 0

=
(1 − ex)sinx

x2 + x3

−1

199. Lt
x→ 0

=
etan x − ex

tanx − x

https://dl.doubtnut.com/l/_G8St5V38sSKj
https://dl.doubtnut.com/l/_UU4WnY2bHtAh
https://dl.doubtnut.com/l/_liQygvn1Xk3U


A. 1

B. e

C. 

D. 0

Answer: A

Watch Video Solution

e− 1

200. 

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
ex − esin x

2(x − sinx)

−1/2

1/2

3/2

https://dl.doubtnut.com/l/_liQygvn1Xk3U
https://dl.doubtnut.com/l/_M3gmM0CB0Pjs


201. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

=
xa − aa

ax − an

aa

loge a

loga e

202. 

A. 

B. 

C. 

Lt
x→ a

=
ea − ex

ex+a(x − a)

−1/ea

e−a

aa

https://dl.doubtnut.com/l/_M3gmM0CB0Pjs
https://dl.doubtnut.com/l/_Kj8utDW9Idb1
https://dl.doubtnut.com/l/_5lmK1mk5mOHI


D. none

Answer: A

Watch Video Solution

203. 

A. 1

B. 0

C. e

D. none

Answer: A

Watch Video Solution

Lt
x→ 1

=
sin(ex− 1 − 1)

logx

204. Lt
x→ 0

(1 + 2x)1 /x =

https://dl.doubtnut.com/l/_5lmK1mk5mOHI
https://dl.doubtnut.com/l/_ser6LJaD7CV4
https://dl.doubtnut.com/l/_EQv37ySLiPH7


A. e

B. 

C. 

D. 

Answer: B

Watch Video Solution

e2

e3

−e

205. 

A. e

B. 

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

(1 + x)2 /x =

e2

e3

−e

https://dl.doubtnut.com/l/_EQv37ySLiPH7
https://dl.doubtnut.com/l/_tfVWT0JFwz45


206. 

A. e

B. 

C. 

D. 

Answer: D

Watch Video Solution

Lt
x→ 0

(1 + sinx)cot x =

e2

e3

e4

207. 

A. 

B. 0

C. 1

Lt
x→ 0

(1 + tanx)cot x =

−1

https://dl.doubtnut.com/l/_tfVWT0JFwz45
https://dl.doubtnut.com/l/_MHzRXEFdLxJu
https://dl.doubtnut.com/l/_ewanWPbfUyNf


D. e

Answer: D

Watch Video Solution

208. 

A. e

B. 

C. e^3`

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

(1 + )
x

=
3

x

e2

−e

209. The value of  isLt
x→ 0

(1 + x)1 /x − e

x

https://dl.doubtnut.com/l/_ewanWPbfUyNf
https://dl.doubtnut.com/l/_6m0E2eg1tILD
https://dl.doubtnut.com/l/_DSKpipG8iTse


A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

e/2

−e/2

2/e

210. 

A. 0

B. 1

C. e

D. 1/e

Answer: D

Watch Video Solution

Lt
x→ ∞

( )
x+ 3

=
x + 1

x + 2

https://dl.doubtnut.com/l/_DSKpipG8iTse
https://dl.doubtnut.com/l/_fE3Z7BtpE3rh


211. 

A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ ∞

( )
x+ 3

=
x + 5

x + 2

e2

e3

e5

212. 

A. 

B. 

C. 

Lt
x→ ∞

( )
x+ 4

=
x + 6

x + 1

e4

e6

e5

https://dl.doubtnut.com/l/_fE3Z7BtpE3rh
https://dl.doubtnut.com/l/_Pnlr60OVLCmD
https://dl.doubtnut.com/l/_4rv0f1tGZVOd


D. e

Answer: C

Watch Video Solution

213. 

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

Lt
x→ 0

( )
x+ b

=
x + a

x + b

eb−a

ea− b

eb

214. Lt
x→ ∞

( )
x

=
x2 + 5x + 3

x2 + x + 2

https://dl.doubtnut.com/l/_4rv0f1tGZVOd
https://dl.doubtnut.com/l/_8HGa8749qABO
https://dl.doubtnut.com/l/_CCbo3akWABoj


A. 

B. 

C. e

D. 

Answer: A

Watch Video Solution

e4

−e

e2

215. 

A. 0

B. 1

C. e

D. 

Answer: D

Watch Video Solution

Lt
x→ ∞

( )
x

=
x

1 + x

1/e

https://dl.doubtnut.com/l/_CCbo3akWABoj
https://dl.doubtnut.com/l/_c0uTysNUvqrU


216. If a,b,c,d are positive real numbers then 

A. 

B. 

C. 

D. e

Answer: A

Watch Video Solution

Lt
n→ ∞

(1 + )
c+dn

=
1

a + bn

ed/ b

ec/a

e
c + d

a+ b

217. If , then the value of a and b are

A. 

B. 

C. 

Lt
x→ 0

(1 + + )
2x

= e2a

x

b

x2

a ∈ R, b ∈ R

a = 1 and b = 2

a ∈ R, b = 2

https://dl.doubtnut.com/l/_c0uTysNUvqrU
https://dl.doubtnut.com/l/_KAqMA5I6eVK8
https://dl.doubtnut.com/l/_vbq8xyQgmiub


D. 

Answer: D

Watch Video Solution

a = 1, b ∈ R

218. 

A. e

B. 

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ 0

(1 + sinx)cot x =

e2

e3

e4

219. Lt
x→ 0

(cos x + a sin bx)1 /x =

https://dl.doubtnut.com/l/_vbq8xyQgmiub
https://dl.doubtnut.com/l/_0zYYNhRu0pyF
https://dl.doubtnut.com/l/_xcK3fy2E9Mhj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ea

eb

ea/ b

eab

220. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Lt
x→ ∞

( ) =
x2 + 2x − 1

2x2 − 3x − 2

2x+ 1

2x− 1

−1/2

−1/4

e1 / 4

e− 1 / 4

https://dl.doubtnut.com/l/_xcK3fy2E9Mhj
https://dl.doubtnut.com/l/_V2TS8m3G5Osp


Watch Video Solution

221. 

A. 1

B. 3/5

C. 1

D. none

Answer: B

Watch Video Solution

lim
x− > 0

e3x − 1

log(1 + 5x)

222. 

A. 

B. 

C. 

Lt
x→ 1

(log2 2x)logx 5 =

5/2

elog2 5

elog
e

2

https://dl.doubtnut.com/l/_V2TS8m3G5Osp
https://dl.doubtnut.com/l/_UuqS2BqrjE6y
https://dl.doubtnut.com/l/_B8mrTmIRvuwv


D. 

Answer: B

Watch Video Solution

log 5/log 2

223. 

A. 0

B. 1

C. e

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

xx =

1/e

224. Lt
x→ 0

(sinx)tan x =

https://dl.doubtnut.com/l/_B8mrTmIRvuwv
https://dl.doubtnut.com/l/_wqpVpQ9CgVnm
https://dl.doubtnut.com/l/_CaoRq8BTsJTS


A. 

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

−1

∞

225. 

A. 

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

Lt
x→ 0

(x + sinx)tan x =

−1

https://dl.doubtnut.com/l/_CaoRq8BTsJTS
https://dl.doubtnut.com/l/_Qmy7U4mz1Jic


226. Lt { )=

A. e

B. 

C. 

D. 

Answer: A

View Text Solution

x→ 0
(1 − x2)

1

log(1 − x)

e2

e3

e4

227. 

A. 

B. 0

C. 1

Lt
x→ 1

(1 − x)
tan πx

=

−1

https://dl.doubtnut.com/l/_Qmy7U4mz1Jic
https://dl.doubtnut.com/l/_lFSlDBiZW3v3
https://dl.doubtnut.com/l/_3Jo3sNBucD1S


D. 2

Answer: C

Watch Video Solution

228. If 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = ( )
2x

, then 
x

2 + x

f(x)
x→ ∞

= e− 6

f(x)
x→ ∞

= 2

f(x)
x→ ∞

= e− 4

f(x)
x→ ∞

= 1/9

229. Lt
x→ 0

( )
1 /x2

=
tanx

x

https://dl.doubtnut.com/l/_3Jo3sNBucD1S
https://dl.doubtnut.com/l/_fLwnIW6aTdVI
https://dl.doubtnut.com/l/_uq4RPJ0y3n0Z


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

e2

e1 / 2

e− 1 / 2

e1 / 3

230. 

A. 0

B. 1

C. e

D. 1/e

Answer: D

Watch Video Solution

Lt
x→ 0

( ) =
sinx

x

sin x

x− sin x

https://dl.doubtnut.com/l/_uq4RPJ0y3n0Z
https://dl.doubtnut.com/l/_ydsFGJ6xWYCq


Watch Video Solution

231. 

A. 

B. e

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

(sinx + cos x)
1 /x

=

e− 1

e2

e− 2

232. 

A. e

B. 

C. e^3`

Lt
x→

( )
1 / cos x

=
π

2

1 + cos x

1 − cos x

e2

https://dl.doubtnut.com/l/_ydsFGJ6xWYCq
https://dl.doubtnut.com/l/_GD6FgzFpdybs
https://dl.doubtnut.com/l/_3Zt4Oti7adQy


D. 

Answer: B

Watch Video Solution

e4

233. 

A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

Lt
x→ 0

( )
1 /x

=
1 + tanx

1 + sinx

e2

e− 2

e6

234. Lt
x→ 0

( )
cosec x

=
1 + tanx

1 + sinx

https://dl.doubtnut.com/l/_3Zt4Oti7adQy
https://dl.doubtnut.com/l/_DnvgpW1iPReS
https://dl.doubtnut.com/l/_bsx574bscUc4


Exercise 1B( One Sided Limits)

A. 1

B. e

C. 

D. none

Answer: A

Watch Video Solution

e− 1

1. 

A. 0

B. 

C. 

D. does not exist

Lt
x→ 0

√x =

√2

√3

https://dl.doubtnut.com/l/_bsx574bscUc4
https://dl.doubtnut.com/l/_ZItH8KodZvNR


Answer: A

Watch Video Solution

2. 

A. 0

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 1

√1 − x =

√2

√3

3. 

A. 0

Lt
x→ 2 −

√2 − x =

https://dl.doubtnut.com/l/_ZItH8KodZvNR
https://dl.doubtnut.com/l/_PwBi811mfxQG
https://dl.doubtnut.com/l/_pgqboqR0rJWR


B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

√2

√3

4. 

A. 0

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 3 +

√x − 3 =

√2

√3

https://dl.doubtnut.com/l/_pgqboqR0rJWR
https://dl.doubtnut.com/l/_dr7Me2ElQfeC
https://dl.doubtnut.com/l/_VN9D7lYfDcXh


5. 

A. 0

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 2

√4 − x2 =

√2

√3

6. 

A. 0

B. 1

C. 

D. does not exist

Lt
x→ 0

|x| =

−1

https://dl.doubtnut.com/l/_VN9D7lYfDcXh
https://dl.doubtnut.com/l/_B6u3ms0qnazw


Answer: A

Watch Video Solution

7. 

A. 0

B. 1

C. 

D. does not exist

Answer: B

Watch Video Solution

Lt
x→ 1

=
|x|

x

−1

8. 

A. 0

Lt
x→ − 2

=
|x|

x

https://dl.doubtnut.com/l/_B6u3ms0qnazw
https://dl.doubtnut.com/l/_EkmVYoZdxB2U
https://dl.doubtnut.com/l/_DM2YeVtk9FJ1


B. 1

C. 

D. does not exist

Answer: C

Watch Video Solution

−1

9. 

A. 0

B. 1

C. 

D. does not exist

Answer: C

Watch Video Solution

Lt
x→ 3 −

=
|x − 3|

x − 3

−1

https://dl.doubtnut.com/l/_DM2YeVtk9FJ1
https://dl.doubtnut.com/l/_W8WvHnfiFYIe
https://dl.doubtnut.com/l/_ov4kOsrDojo7


10. 

A. 2

B. 3

C. 4

D. 6

Answer: C

Watch Video Solution

Lt
x→ 0 +

{ + x2 + 3} =
|x|

x

11. 

A. 

B. 

C. 

D. does not exist

Lt
x→ 0

=
3|x| + x

7|x| − 5x

3/2

3/10

1/8

https://dl.doubtnut.com/l/_ov4kOsrDojo7
https://dl.doubtnut.com/l/_goKJQb6I2dXL


Answer: D

Watch Video Solution

12. 

A. 0

B. 1

C. 2

D. does not exist

Answer: C

Watch Video Solution

Lt
x→ ∞

=
3|x| + x

7|x| − 5x

13. 

A. 

Lt
x→ − ∞

=
2|x| + x

5|x| − 3x

3/2

https://dl.doubtnut.com/l/_goKJQb6I2dXL
https://dl.doubtnut.com/l/_1hQqphBQdrY4
https://dl.doubtnut.com/l/_57vH0HhmLo8y


B. 

C. 

D. does not exist

Answer: C

Watch Video Solution

3/10

1/8

14. 

A. 

B. 

C. 

D. does not exist

Answer: B

Watch Video Solution

Lt
x→ 0 −

=
5|x| + 2x

7|x| − 3x

3/2

3/10

1/8

https://dl.doubtnut.com/l/_57vH0HhmLo8y
https://dl.doubtnut.com/l/_y5A1vYPyTKCu
https://dl.doubtnut.com/l/_dyluTDIjutfZ


15. 

A. 2

B. 

C. 

D. does not exist

Answer: D

Watch Video Solution

Lt
x→ 1

x2 − 1

|x − 1| =

−2

∞

16. 

A. 1

B. 

C. 0

D. does not exist

Lt
x→ 0

=
sinx

|x|

−1

https://dl.doubtnut.com/l/_dyluTDIjutfZ
https://dl.doubtnut.com/l/_9nuw8PdFPnFB


Answer: D

Watch Video Solution

17. 

A. 1

B. 

C. 0

D. does not exist

Answer: D

Watch Video Solution

Lt
x→ 0

=
|sinx|

x

−1

18. 

A. 1

Lt
x→ 0

sin|x|

|x| =

https://dl.doubtnut.com/l/_9nuw8PdFPnFB
https://dl.doubtnut.com/l/_QPNpmk73346d
https://dl.doubtnut.com/l/_2mW6fUA6Trf8


B. 

C. 0

D. does not exist

Answer: A

Watch Video Solution

−1

19. 

A. 0

B. 1

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 0

=
sinx2

|x|

−1

https://dl.doubtnut.com/l/_2mW6fUA6Trf8
https://dl.doubtnut.com/l/_YhpIJnGY2IVU
https://dl.doubtnut.com/l/_QtQmIkVsR6gx


20. 

A. equals 

B. equals 

C. does not exist

D. equals 

Answer: C

Watch Video Solution

Lt
x→ 2

( )
√1 − cos{2(x − 2)}

x − 2

−√2

1/√2

√2

21. 

A. 0

B. 1

C. 

D. does not exist

Lt
x→ 0

sin( ) =
1

x

−1

https://dl.doubtnut.com/l/_QtQmIkVsR6gx
https://dl.doubtnut.com/l/_tJqDHxkW9mTk


Answer: D

Watch Video Solution

22. 

A. 0

B. 1

C. does not exist

D. cannot be determine

Answer: A

Watch Video Solution

Lt
x→ 0

x sin( ) =
1

x

23. 

A. 0

Lt
x→ 0

x sin( ) =
1

x

https://dl.doubtnut.com/l/_tJqDHxkW9mTk
https://dl.doubtnut.com/l/_a0uIZ2wheACs
https://dl.doubtnut.com/l/_3kmW0vP1r9e1


B. 1

C. 

D. does not exist

Answer: B

Watch Video Solution

−1

24. 

A. 0

B. 1

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 0

x sin[ ] =
1

x2

−1

https://dl.doubtnut.com/l/_3kmW0vP1r9e1
https://dl.doubtnut.com/l/_h88ZVUeWJJRv
https://dl.doubtnut.com/l/_lL2gmWjgqz6b


25. 

A. 1

B. 0

C. does not exist

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

x2 sin(π/x) =

∞

26. 

A. 0

B. 1

C. 

D. does not exist

Lt
x→ 0

cos( ) =
1

x

−1

https://dl.doubtnut.com/l/_lL2gmWjgqz6b
https://dl.doubtnut.com/l/_NdghXUl7YWKD


Answer: D

Watch Video Solution

27. 

A. 0

B. 1

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ 0

x cos( ) =
1

x

−1

28. 

A. 0

Lt
x→π / 2

tanx

https://dl.doubtnut.com/l/_NdghXUl7YWKD
https://dl.doubtnut.com/l/_Goo7Nxaccsk6
https://dl.doubtnut.com/l/_kNmHY68sakVb


B. 

C. 

D. does not exist

Answer: C

Watch Video Solution

∞

−∞

29. 

A. 0

B. 1

C. -1

D. does not exist

Answer: C

Watch Video Solution

Lt
x→ 1 −

( )
|x|

x

https://dl.doubtnut.com/l/_kNmHY68sakVb
https://dl.doubtnut.com/l/_ReV2cy1z5nvl
https://dl.doubtnut.com/l/_uFJO2jutRXlc


30. 

A. 3

B. 

C. 

D. does not exist

Answer: D

Watch Video Solution

Lt
x→ 3

|x|

∞

−∞

31. =

A. 0

B. 1

C. 

D. does not exist

Lt
x→ ∞

x tan
1

x

−1

https://dl.doubtnut.com/l/_uFJO2jutRXlc
https://dl.doubtnut.com/l/_qZtqUVj6fDFT


Answer: B

Watch Video Solution

32. 

A. 0

B. 

C. 

D. does not exist

Answer: B

Watch Video Solution

Lt
x→ 0

cot x =

∞

−∞

33. 

A. 0

Lt
x→ 0

cot x =

https://dl.doubtnut.com/l/_qZtqUVj6fDFT
https://dl.doubtnut.com/l/_mbnDBFxFd9RD
https://dl.doubtnut.com/l/_MIe9Y0oQDMFR


B. 

C. 

D. does not exist

Answer: C

Watch Video Solution

∞

−∞

34. 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

Lt
x→ ∞

√ =
{x − sinx}

x + cos2(x)

−1

∞

https://dl.doubtnut.com/l/_MIe9Y0oQDMFR
https://dl.doubtnut.com/l/_QUOzfMroqdrm


35. 

A. 0

B. 1

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
n→ ∞

=
sinnθ

√n

−1

36. 

A. 

B. 0

C. 1

D. does not exist

Lt
x→π / 2

(e− tan θ)sec2 θ =

−1

https://dl.doubtnut.com/l/_rgK6Cp5TUuyn
https://dl.doubtnut.com/l/_B22Kjec1re7u


Answer: D

Watch Video Solution

37. 

A. 1

B. 

C. 2

D. 

Answer: B

Watch Video Solution

Lt
x→ − ∞

=
x4. sin(1/x) + x2

1 + |x|
3

−1

−3

38. 

A. 0

Lt
x→ 0

=
1

x

https://dl.doubtnut.com/l/_B22Kjec1re7u
https://dl.doubtnut.com/l/_MhmtktIle9aT
https://dl.doubtnut.com/l/_fQFdmSpq60nx


B. 

C. 

D. does not exist

Answer: D

Watch Video Solution

∞

−∞

39. 

A. 0

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ ∞

=
1

x

∞

−∞

https://dl.doubtnut.com/l/_fQFdmSpq60nx
https://dl.doubtnut.com/l/_TELEFY749s1L
https://dl.doubtnut.com/l/_6kKdNTKMoLjq


40. 

A. 0

B. 

C. 

D. does not exist

Answer: B

Watch Video Solution

Lt
x→ 0

=
1

x2

∞

−∞

41. 

A. 0

B. 

C. 

D. does not exist

Lt
x→ ∞

=
1

x2

∞

−∞

https://dl.doubtnut.com/l/_6kKdNTKMoLjq
https://dl.doubtnut.com/l/_q4P8nrpbxgV3


Answer: A

Watch Video Solution

42. 

A. 0

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

Lt
x→ ∞

=
1

x2

∞

−∞

43. 

A. 0

Lt
x→ 0

e1 /x =

https://dl.doubtnut.com/l/_q4P8nrpbxgV3
https://dl.doubtnut.com/l/_zbbQUYJH1p7r
https://dl.doubtnut.com/l/_UlcI9teqacjj


B. 1

C. 

D. does not exist

Answer: D

Watch Video Solution

−1

44. 

A. 

B. 1

C. 0

D. does not exist

Answer: C

Watch Video Solution

Lt
x→ ∞

=
e1 /x − e− 1 /x

e1 /x + e− 1 /x

−1

https://dl.doubtnut.com/l/_UlcI9teqacjj
https://dl.doubtnut.com/l/_Rq2a20U6wDW9
https://dl.doubtnut.com/l/_W5T5XnyvHtpp


45. 

A. 

B. 1

C. 0

D. 

Answer: B

Watch Video Solution

Lt
x→ 0

=
21 /x − 1

21 /x + 1

−1

∞

46. 

A. 

B. 3

C. 8

D. does not exist

Lt
x→ 3

[x] =

−1

https://dl.doubtnut.com/l/_W5T5XnyvHtpp
https://dl.doubtnut.com/l/_qcM1qenEytm0


Answer: D

Watch Video Solution

47. 

A. 

B. 3

C. 8

D. does not exist

Answer: C

Watch Video Solution

Lt
x→ 4 +

{[x] + x} =

−1

48. 

A. 

Lt
x→ 2 −

{[x] + x} =

−1

https://dl.doubtnut.com/l/_qcM1qenEytm0
https://dl.doubtnut.com/l/_wlV1w6cSfUtE
https://dl.doubtnut.com/l/_h7q0HQ0mzwvV


B. 3

C. 8

D. does not exist

Answer: A

Watch Video Solution

49. {x-[x]}=`

A. 0

B. 

C. 

D. does not exist

Answer: A

View Text Solution

Lt
x→ 5 +

1/2

−1/2

https://dl.doubtnut.com/l/_h7q0HQ0mzwvV
https://dl.doubtnut.com/l/_zmTjllniI9wp
https://dl.doubtnut.com/l/_kiWay8REgZLh


50. 

A. 0

B. 1

C. 

D. does not exist

Answer: A

View Text Solution

Lt
x→ 0 +

[x]sin =
1

x

−1

51. 

A. 1

B. 0

C. 

D. none

Lt
x→π / 2

[sinx] =

−1

https://dl.doubtnut.com/l/_kiWay8REgZLh
https://dl.doubtnut.com/l/_xUdaFxwX06Xm


Answer: B

View Text Solution

52. If underset(x to oo)"Lt" ([ax+b])/(x)=`

A. 0

B. 1

C. a

D. b

Answer: C

View Text Solution

a > 0  then 

53. 

A. x/2

Lt
x→ ∞

=
[x] + [2x] + [3x] + .... + [nx]

n2

https://dl.doubtnut.com/l/_xUdaFxwX06Xm
https://dl.doubtnut.com/l/_TJAPV9NpCjJ3
https://dl.doubtnut.com/l/_fSbYOQNdxWE1


B. x/3

C. x

D. 0

Answer: A

View Text Solution

54. 

A. x/2

B. x/3

C. x/6

D. 0

Answer: B

View Text Solution

Lt
x→ 0

=
[12x] + [22x] + [32x] + .... + [n2x]

n3

https://dl.doubtnut.com/l/_fSbYOQNdxWE1
https://dl.doubtnut.com/l/_Pd3Wsq7PLEb1


55. 

A. 0

B. 1

C. 

D. none

Answer: C

View Text Solution

Lt
x→ 1

{1 − x + [x − 1] + [1 − x]}  is 

−1

56. 

A. 0

B. 1

C. 2

D. 3

Lt
x→ 0

{1 − x + [x − 1} + [1 − x]}  is 

https://dl.doubtnut.com/l/_YMWLCz7wFajW
https://dl.doubtnut.com/l/_e3eLqzLvRNvw


Answer: D

View Text Solution

57. If

A. 

B. 

C. 0

D. 1

Answer: C

View Text Solution

f :R → R  is defined  by f(x) = [x − 3] + [x − 4]for x ∈ Rthen Lt
x→ 3 −

f(

−2

−1

58. If

f(x) =  at [x] ≠ 0 and f(x) = 0  at then  underset(x to 0)Ltf(
sin[x]

[x]

https://dl.doubtnut.com/l/_e3eLqzLvRNvw
https://dl.doubtnut.com/l/_dl2FL1hPPyMw
https://dl.doubtnut.com/l/_f90ZYycMXILt


A. 0

B. 1

C. 

D. does not exist

Answer: D

View Text Solution

−1

59. If  where [x] denotes the greatest

integer not exceeding x then 

A. 

B. 0

C. 1

D. 2

Answer: B

f(x) =
for [x] ≠ 0

0 for [x]=0

sin ( 1 + [x ] )
x

Lt
x→ 0 −

f(x) =

−1

https://dl.doubtnut.com/l/_f90ZYycMXILt
https://dl.doubtnut.com/l/_1R1eoDMhQhqi


View Text Solution

60. Let  be a positive increasing function with 

A. 1

B. 

C. 

D. 3

Answer: A

View Text Solution

f :R → R

f(3x)
x→ ∞

f(x) = 1

2/3

3/2

61. If 

A. 

B. 

f(x) = √9 − x2  then Lt
x→ 2

 is 
f(x) − f(2)

x − 2

3/√5

−2/√5

https://dl.doubtnut.com/l/_1R1eoDMhQhqi
https://dl.doubtnut.com/l/_Yut3IImJRZfm
https://dl.doubtnut.com/l/_jiBf1moLlLeo


C. 0

D. none

Answer: B

Watch Video Solution

62. If 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = − √25 − x2, then Lt
x→ 1

=
f(x) − f(1)

x − 1

1/24

1/5

−√24

1/√24

https://dl.doubtnut.com/l/_jiBf1moLlLeo
https://dl.doubtnut.com/l/_ezjDlIfxCdMS


63. If 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = x tan− 1 x  then Lt
x→ 1

( =
f(x − f(1))

x − 1

π

4

π + 1

4

π + 2

4

π + 3

4

64. If

A. 0

B. 

C. 1

f : R → R  is defined by f(x)  {{:(,(x-2)/(x^(2)-3x+2), if x in R-{1,2}),(

−1

https://dl.doubtnut.com/l/_kxvxsB5Hy0cd
https://dl.doubtnut.com/l/_UyuzaGCl5g7v


D. 

Answer: B

View Text Solution

−1/2

65. If f(x)f(x),{{:(,x-5,"for x"le 1),(,4x^(2)-8,"for "1 lt x lt 2"then "f(2+)-f(2-)=),

(,3x+4,"for "x ge 2):}" then " f(2+)-f(2-)=`

A. 0

B. 2

C. 3

D. 4

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_UyuzaGCl5g7v
https://dl.doubtnut.com/l/_ZwXVERyLHVqo


66. If =x^(2)"for "x gt 0" then

"underset(x to 0)"Lt" f(x)=`

A. 

B. 0

C. 1

D. 2

Answer: B

View Text Solution

f(x) = xf or x < 0 = 0f or x = 0

−1

67. If 

A. 2d-b

B. 2b-d

C. 2d+b

f(x) = {
2x + b (x < a)

x + d (x ≥ a)
 is such that Lt

x→ a
f(x) = l then l=

https://dl.doubtnut.com/l/_SMHFZbDMCfjp
https://dl.doubtnut.com/l/_rbev2NS6NdYv


D. b-2d

Answer: A

Watch Video Solution

68. If

A. 2

B. 4

C. 5

D. 1

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

sinx x ≠ nπ n ∈ Z

2 otherwise
and g(x) =

⎧⎪
⎨
⎪⎩

x2 + 1 x ≠ 0,2

4 x = 0

5 x = 2

t

https://dl.doubtnut.com/l/_rbev2NS6NdYv
https://dl.doubtnut.com/l/_Ykv1DKbSd3md


69. If 

A. 2

B. 0

C. 3

D. `-1

Answer: C

Watch Video Solution

f(x) =

⎧⎪
⎨
⎪⎩

1 (x < 0)

2x + 1 (x ≤ 1)

3x (x > 1)

 then Lt
x→ 1

f(x) =

70. 

A. 2

B. 4

C. 3

D. 

f(x) = {
x + 2 (1 < ≤ 2)

x2 (2 < x < 5)
 then  Lt

x→ 2
f(x) =

−1

https://dl.doubtnut.com/l/_RSmCyy4XpLV4
https://dl.doubtnut.com/l/_LUzn1KrJc1I6


Exercise 1C(Continuity)

Answer: B

Watch Video Solution

71. If 

A. 1

B. 

C. 3

D. `-1

Answer: B

View Text Solution

f(x) = {
x/2 (x < 2)

x2 /3 (x ≥ 2)
then Lt

x→ 2 +
f(x) =

4/3

https://dl.doubtnut.com/l/_LUzn1KrJc1I6
https://dl.doubtnut.com/l/_06z2kujSXqU8


1. The function

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

View Text Solution

f(x) = tanx  for x ≠ π/2, f(π/2) = 0  at x = π/2  is 

2. The function 

A. continuous

B. discontinuous

C. not determined

f(x) =  for x ≠ 0, f(0) = 1  at x = 0is
sin2 x

x

https://dl.doubtnut.com/l/_xtDoIDnLGG0L
https://dl.doubtnut.com/l/_F83Npz845mnF


D. none

Answer: B

View Text Solution

3. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: C

View Text Solution

f(x) = for x ≠ 0, f(0) = 1  at x = 0is
tanx

x

4. If f(x) =  for x ≠ 0, f(0) = 0,  then f(x) at x=0 is 
|x|

x

https://dl.doubtnut.com/l/_F83Npz845mnF
https://dl.doubtnut.com/l/_XPGXNoc2U7UP
https://dl.doubtnut.com/l/_gx29Oourg3DR


A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

View Text Solution

5. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

View Text Solution

f(x) = √x  at x=0 is 

https://dl.doubtnut.com/l/_gx29Oourg3DR
https://dl.doubtnut.com/l/_wSCPdnbL0I1T


6. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

View Text Solution

f(x) = √x  at x=0 is 

7. The function 

A. continuous

B. discontinuous

C. not determined

f(x) = x + [x]  at x = 1/2  is 

https://dl.doubtnut.com/l/_wSCPdnbL0I1T
https://dl.doubtnut.com/l/_D66Wn63GMVQS
https://dl.doubtnut.com/l/_2pkpDzAKLCqF


D. none

Answer: A

Watch Video Solution

8. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

f(x) = x + [x]  at x = 1/2  is 

9. The function f(x) = x − [x]  when x=2 is 

https://dl.doubtnut.com/l/_2pkpDzAKLCqF
https://dl.doubtnut.com/l/_QNec69sbCOKe
https://dl.doubtnut.com/l/_gUFfq5yjUaDE


A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

10. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

f(x) = (1 + x)5 /x, f(0) = e5  at x =0 is 

https://dl.doubtnut.com/l/_gUFfq5yjUaDE
https://dl.doubtnut.com/l/_s45r2d0RyMsL


11. The function

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) =  for x ≠ 0, f(0) = 2/17. At x=0 is 
x tan 2x

sin 3x sin 5x

12. The function

A. continuous

B. discontinuous

f(x) = for x ≠ 0, f(0) = 7/4at x =0 is
cos 3x − cos 4x

x sin 2x

https://dl.doubtnut.com/l/_s45r2d0RyMsL
https://dl.doubtnut.com/l/_spZJq9HAaNrd
https://dl.doubtnut.com/l/_1PmeS1vdIqMW


C. not determined

D. none

Answer: A

View Text Solution

13. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

f(x) =  for x ≠ 0, f(0) = 1  at x=0 is
1 − cos x

x2

https://dl.doubtnut.com/l/_1PmeS1vdIqMW
https://dl.doubtnut.com/l/_rnDYxwZHUjlc


14. The function  at x=0 is

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) =  for x ≠ 0, f(0) = 1
3 sinx − sin 3x

x3

15. The function 

A. continuous

B. discontinuous

C. not determined

D. none

f(x) = for x ≠ 0, f(0) =  at x= 0 is 
1 − cos ax

1 − cos bx

a

b

https://dl.doubtnut.com/l/_ZiV6m8cqPDxR
https://dl.doubtnut.com/l/_43GkGSCY57j9


Answer: B

Watch Video Solution

16. The function

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = (√1 + x2 − for x ≠ 0, f(0) = 1atx = 0is
√1 − x2

x2

17. The function

f(x) = for x ≠ 1, f(1) = 1/2  at x=1 is 
√x2 + 3 − 2

x − 1

https://dl.doubtnut.com/l/_43GkGSCY57j9
https://dl.doubtnut.com/l/_OQIYaUvGsOFM
https://dl.doubtnut.com/l/_7cwtTiV3VuP5


A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

18. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = f or x ≠ 0, f(0) = 6  at x =0 is 
7|x| + 5x

7|x| − 5x

https://dl.doubtnut.com/l/_7cwtTiV3VuP5
https://dl.doubtnut.com/l/_pn3xPY32rZAU


19. If 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = ,  then at x=0, f(x) is
1

31 /x + 1

20. The function

A. continuous

B. discontinuous

f(x) = [ ]       for x ≠ 1, f(1) = 0  at x=1 is
x − 1

1 + e
1

x− 1

https://dl.doubtnut.com/l/_pn3xPY32rZAU
https://dl.doubtnut.com/l/_uNRwBmvVi05n
https://dl.doubtnut.com/l/_Du4SsL3WvvCD


C. not determined

D. none

Answer: A

Watch Video Solution

21. The function 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

f(x) = (  for x ≠ 0, f(0) = 1  at x =0 is
e1 /x2

e1 /x2 − 1

https://dl.doubtnut.com/l/_Du4SsL3WvvCD
https://dl.doubtnut.com/l/_MxRxftE0iVaq


22.  , at x = 0 , f is

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = (x − [x])sin( )
1

X

23. If 

A. continuous

B. discontinuous

C. not determined

D. none

f(x) = x sin for x ≠ 0, f(0) = 0  then at x = 0, f(x)is
1

x

https://dl.doubtnut.com/l/_9OmXGSqHpWnp
https://dl.doubtnut.com/l/_fAwzPAfnHuKg


Answer: A

Watch Video Solution

24. If 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = x cos  for x ≠ 0, f(0) = 1  then at x=0, f(x) is
1

x2

25. If 

A. continuous

f(x) = for x ≠ 0, f(0) = 0  then at x=0, f(x) is
x

1 + e1 /x

https://dl.doubtnut.com/l/_fAwzPAfnHuKg
https://dl.doubtnut.com/l/_ZafFIQDXBSaW
https://dl.doubtnut.com/l/_jCALBEBcmH37


B. discontinuous

C. not determined

D. none

Answer: A

Watch Video Solution

26. The function

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) = + sin  for x ≠ 0, f(0) = 0atx = 0is
xe1 /x

1 + e1 /x

1

x

https://dl.doubtnut.com/l/_jCALBEBcmH37
https://dl.doubtnut.com/l/_4zAdRiv19iG6


27. If 

A. continuous

B. discontinuous

C. not determined

D. none

Answer: B

Watch Video Solution

f(x) =  for x ≠ 0, f(0) = 0  then at x=0, f(x) is
e1 /x − 1

e1 /x + 1

28. If  is continuous at x=0 then a=

A. 0

B. 1

C. 

f(x) =  for x ≠ 0, f(0) = 1
sin2 ax

x2

±1

https://dl.doubtnut.com/l/_4zAdRiv19iG6
https://dl.doubtnut.com/l/_XChdBLy5sFiz
https://dl.doubtnut.com/l/_KuEVcKqNNYAl


D. 2

Answer: C

Watch Video Solution

29. if  is continuous at x=0

then a=

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

f(x) =  for x ≠ 0, f(0) = 1/2
1 − cos ax

x sinx

±1

https://dl.doubtnut.com/l/_KuEVcKqNNYAl
https://dl.doubtnut.com/l/_zvlREQ9KO5SY


30. A function f is defined by 

 


It f(x) is continuous at x = 0 , find the values of a,b and c .

A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪
⎪⎩

 if x < 0

c                         if x = 0

 if  x > 0

sin ( a+ 1 ) x+ sin x

x

(x+ bx2 ) −x
1
2

1
2

bx
3
2

3/2

−3/2

31. f(x)= |x| is

A. everywhere continuous

https://dl.doubtnut.com/l/_uWEtHwTLdJRv
https://dl.doubtnut.com/l/_wzbvNzGWI8zq


B. continuous only at 0

C. discontinuous at x=0

D. nowhere continuous

Answer: A

Watch Video Solution

32. If  


A. f is continuous at x=0 and x=1/2

B. f is discontinuous at x=0 and x=1/2

C. f is continuous at x=0 and discontinuous at x=1/2

D. f is discontinuous at x=0 and continuous at x=1/2

Answer: C

View Text Solution

f(x) = x2,  for x rational

= − x2, for x irrational, then 

https://dl.doubtnut.com/l/_wzbvNzGWI8zq
https://dl.doubtnut.com/l/_ilUFdWy86IBl


33. If 

A. f is continuous at -2

B. f is not continuous at -2

C. 

D. none

Answer: B

Watch Video Solution

f(x) = , x ≠ − 2 and f( − 2) = 2then 
tan− 1(x + 2)

|x + 2|

Lt
x→ − 2

f(x) = 1

34. f(x)=1 for x is rational f(x)=-1 for x irrational, f is continuous on

A. R

B. 

C. 

D. none

ϕ

( − 1, 1)

https://dl.doubtnut.com/l/_ilUFdWy86IBl
https://dl.doubtnut.com/l/_5BU0f5h889bA
https://dl.doubtnut.com/l/_xSQiw2oiCmeY


Answer: B

Watch Video Solution

35. If  then f(x) =sqrt ((x-a)/(b-x))` is continuous on

A. (a,b)

B. [a,b]

C. [a,b)

D. (a,b]

Answer: C

Watch Video Solution

a < b

36. The function  is continous

A. 

f(x) = {
3x − 1 if x < 1

x2 if x > 2
}

( − ∞, 1)

https://dl.doubtnut.com/l/_xSQiw2oiCmeY
https://dl.doubtnut.com/l/_rigdRoEhZLrv
https://dl.doubtnut.com/l/_SU5z3zOITO13


B. 

C. 

D. (1,2)

Answer: C

Watch Video Solution

(2, ∞)

( − ∞, 1) ∪ (2, ∞)

37. If  is defined by 

 then is a continuous

on the set

A. R

B. 

C. 

D. 

f : R → R

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

if x ∈ R − { − 1, − 2}

−1 if x = − 2

1 if x = − 1

x+ 2

x2 + 3x+ 2

R − { − 2}

R − { − 1}

R − { − 1, − 2}

https://dl.doubtnut.com/l/_SU5z3zOITO13
https://dl.doubtnut.com/l/_7xFgwaRKMvnU


Answer: C

Watch Video Solution

38. Let 'f' be a non-zero real valued continuous function satisfying f(x + y)

= f(x), f(y) . f(y) for all  if f(2) = 9 , then f(6) =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x, y ∈ R

32

36

34

33

39. If f(x+y)=f(x) f(y) and

f(x) = 1 + g(x), h(x)  where Lt
x→ 0

g(x) = Lt
x→ 0

h(x)  exists, then f(x) is co

https://dl.doubtnut.com/l/_7xFgwaRKMvnU
https://dl.doubtnut.com/l/_FBL67ez36KZU
https://dl.doubtnut.com/l/_vic2Z656fMNd


A. 

B. R

C. 

D. 

Answer: B

View Text Solution

ϕ

R − {0}

R − {1}

40. Let f(x)=f(x) f(y) for all x and y. If f(x) is continuous at x=1. then f(x) is

continuous

A. 

B. R

C. 

D. 

Answer: B

ϕ

R − {0}

R − {1}

https://dl.doubtnut.com/l/_vic2Z656fMNd
https://dl.doubtnut.com/l/_zbqDosv7p0pr


View Text Solution

41. A discontinuous function y=f(x) satisfying

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 = 4  is given by f(x)=

f(x) = √4 − x2

f(x) = √4 + x2

f(x) = √x2 − 4

42. The discontinuous points of 

A. 

B. 

f(x) =  are 
1

log|x|

0, ± 2

1, ± 2

https://dl.doubtnut.com/l/_zbqDosv7p0pr
https://dl.doubtnut.com/l/_AYmP1cVIZsYP
https://dl.doubtnut.com/l/_nTdiIBNCiBTL


C. 

D. 

Answer: C

Watch Video Solution

0, ± 1

0, ± 3

43. If f : R  R is defind by f (x) = x - [x], where [x] , is the greatest integer

not exceding x , then the set of discontinuous of f is

A. the empty set

B. R

C. Z

D. N

Answer: C

Watch Video Solution

→

https://dl.doubtnut.com/l/_nTdiIBNCiBTL
https://dl.doubtnut.com/l/_5DJa6Jnhyi6J
https://dl.doubtnut.com/l/_4fPgXemrcqoa


44. If  is a continuous defined by 

where [x] denotes the greatest integer function, then f is

A. discontinuous only at non-zero integral values of x

B. continuous only at y

C. continuous only at x

D. discontinuous only

Answer: C

View Text Solution

f :R → R f(x) = [x]cos( )π,
2x − 1

2

45.  is discontinuous at

A. square of integers

B. every integer

C. every non integer

D. none

f(x) = √x − [x]

https://dl.doubtnut.com/l/_4fPgXemrcqoa
https://dl.doubtnut.com/l/_eeWpjP6hOMol


Answer: B

Watch Video Solution

46. The value of f(0) so that  is continuous at x=0 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = (1 + x)5 /x

e2

e3

e3 / 2

e5

47. The value of f(0) so that  is continuous at x=0 is

A. 1

f(x) =
sinx

x

https://dl.doubtnut.com/l/_eeWpjP6hOMol
https://dl.doubtnut.com/l/_OffeyNZO7YG1
https://dl.doubtnut.com/l/_JPG8LytwO3KX


B. 2

C. 3

D. 

Answer: A

Watch Video Solution

3/2

48. The value of f(0) so that  is continuous at x=3 is

A. 

B. 2

C. 3

D. 7

Answer: D

Watch Video Solution

f(x) =
3x + 4 tanx

x

3/2

https://dl.doubtnut.com/l/_JPG8LytwO3KX
https://dl.doubtnut.com/l/_g0tbvQfOHP3D
https://dl.doubtnut.com/l/_TDjJIglAO5DY


49. The value of f(0) so that  is continuous at x=0 is

A. 5

B. 6

C. 7

D. none

Answer: C

Watch Video Solution

f(x) =
3x + 4 tanx

x

50. The value of f(0) so that  is continuous at x=0 is

A. 1

B. 2

C. 

D. 3

f(x) =
√1 + x − 1

x

1/2

https://dl.doubtnut.com/l/_TDjJIglAO5DY
https://dl.doubtnut.com/l/_VNdv7ldSLUI0


Answer: C

Watch Video Solution

51. If  and if f is continuous at x=1 then f(1)=

A. 0

B. 1

C. e

D. 

Answer: C

Watch Video Solution

f(x) = x  for x ≠ 1
1

x− 1

1/e

52. The value of f(0) so that the function

f(x) =  is continuous at x=0 is 
(27 − 2x)1 / 3 − 3

9 − 3(243 + 5x)
1 / 5

https://dl.doubtnut.com/l/_VNdv7ldSLUI0
https://dl.doubtnut.com/l/_zSTNowFsCYAn
https://dl.doubtnut.com/l/_7rwvtQsr9PFn


A. 

B. 6

C. 2

D. none

Answer: C

Watch Video Solution

2/3

53. In order that the function  is continous at x=0, f(0)

must be

A. 0

B. e

C. 1/e

D. none

Answer: B

f(x) = (x + 1)cot x

https://dl.doubtnut.com/l/_7rwvtQsr9PFn
https://dl.doubtnut.com/l/_4gwRRodBKWvb


Watch Video Solution

54. The value of f(00) so that the function  is

continuous at x=0, is

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
2x − sin− 1 x

2x + tan− 1 x

1/3

2/3

−1/3

55. The value of f(0) so that the function 

becomes continuous at x=0 is

A. 

f(x) =
√1 + x − 3√1 + x

x

1/6

https://dl.doubtnut.com/l/_4gwRRodBKWvb
https://dl.doubtnut.com/l/_kJVlpShlylN9
https://dl.doubtnut.com/l/_dDGCn4sD9iaE


B. 

C. 2

D. 

Answer: A

Watch Video Solution

1/4

1/3

56. The value of f(0) so that  is continuous at

x=0 is

A. 2

B. 4

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
cos2 x − sin2 x − 1

√x2 + 1 − 1

−2

−4

https://dl.doubtnut.com/l/_dDGCn4sD9iaE
https://dl.doubtnut.com/l/_HEO7BCTrjc6l


57. Extend the definition of the following by continuity

at the pointx=π

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
1 − cos 7(x − π)

5(x − π)2

π

π/2

58. Let

A. 1

B. 

f(x) = , x ≠ , x ∈ [0, ].  If f(x) is continuous in [0, ],
1 − tanx

4x − π

π

4

π

2

π

4

−1

https://dl.doubtnut.com/l/_HEO7BCTrjc6l
https://dl.doubtnut.com/l/_GSX02A0fc4eU
https://dl.doubtnut.com/l/_eGz6poInEHiJ


C. 

D. 

Answer: C

Watch Video Solution

−1/2

1/2

59.  


continous at x=(pi)/(4)`, then K=

A. 4

B. 2

C. 1

D. 

Answer: D

Watch Video Solution

f(x) =
⎧
⎨⎩

if x ≠

k if x =

1 − √2 sin x

π− 4x
π

4
π

4

1/4

https://dl.doubtnut.com/l/_eGz6poInEHiJ
https://dl.doubtnut.com/l/_kojxDiQqkR4l


60. If  is defined by 

A. 1

B. 5

C. 6

D. 0

Answer: B

Watch Video Solution

f :R → R f(x) = {
for x ≠ 0

k for x=0

1 + 3x2 − cos 2x

x2

61. If  and if

f is continuous at x=0, then 

A. 

B. 

C. 

f :R → R  is defined by f(x) = {
for x ≠ 0

λ for x = 0

cos 3x− cos x

x2

λ =

−2

−4

−6

https://dl.doubtnut.com/l/_rwvoNzfKtJsv
https://dl.doubtnut.com/l/_LYEeIyT0Jkvs


D. 

Answer: B

Watch Video Solution

−8

62. If  is defined by  then the

value of ` alpha so that f is continuous at 0 is

A. 2

B. 1

C. 

D. 0

Answer: D

Watch Video Solution

fR → R f(x) = {
 if x ≠ 0

α   for x = 0

2 sin x− sin 2x

2x cos x

−1

https://dl.doubtnut.com/l/_LYEeIyT0Jkvs
https://dl.doubtnut.com/l/_MnbodyiY4BPP


63. The value of f(0) so that the function  is

continuous every-where is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

f(x) =
1 − cos(1 − cos x)

x4

1/8

1/2

1/4

64. Find the value of AO) so that the function f(x) =

 is continuous at x = 0.

A. 

B. 

C. 

(a + x)
2

sin(a + x) − a2 sina

x

a2 cos a + a sina

a2 cos a + 2a sina

2a2 + cos a + a sina

https://dl.doubtnut.com/l/_q58pNfOFmIl7
https://dl.doubtnut.com/l/_LlCd4EjodqQ7


D. none

Answer: B

Watch Video Solution

65. The value of f(2) so that  is continuous at x=2 is

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
2x+ 2 − 16

4x − 16

1/2

−2

−1/2

https://dl.doubtnut.com/l/_LlCd4EjodqQ7
https://dl.doubtnut.com/l/_tMStq4M7d7Tx


66. If the function  is continuous at

x=0, then f(0)=

A. a-b

B. a+b

C. loga+ log b

D. loga-logb

Answer: B

Watch Video Solution

f(x) =
log(1 + ax) − log(1 − bx)

x

67. The value of f(0) so that  is

continuous at x=0 is

A. 

B. 

C. 

f(x) =
log(1 + x/a) − log(1 − x/b)

x

a + b

ab

(a − b)

ab

a + b

https://dl.doubtnut.com/l/_hPo4Rie8Ks2d
https://dl.doubtnut.com/l/_cM6zaG7p3b0F


D. 

Answer: A

Watch Video Solution

ab

a − b

68. Let . Then the

value of f(0) so that f is continuos at x=0 is

A. 1

B. 0

C. 2

D. none

Answer: A

View Text Solution

f(x) = (log(1 + x + x2) + , x ≠ 0
log(1 − x + x2)

secx − cos x

https://dl.doubtnut.com/l/_cM6zaG7p3b0F
https://dl.doubtnut.com/l/_qeQA5VYzGOjb


69. The value of f(0) so that  is

continuous everywhere is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
(4x − 1)

3

sin(x/4)log(1 + x2 /3)

3(log 4)3

4(log 4)3

12(log 4)3

15(log 4)3

70. If  is continuous at x=0 , then

f(0)=

A. log a

B. 2 log a

f(x) =
(ax − 1)

3

sin(x loga)log(1 + x2loga2)

https://dl.doubtnut.com/l/_kGKZIeNn6EPP
https://dl.doubtnut.com/l/_ZALcRtM6fQAW


C. 

D. 

Answer: D

View Text Solution

loga− 1

log √a

71. If If  is a continuous function then k is equal

to

A. 

B. 24

C. 

D. 

Answer: D

View Text Solution

{
x ≠ 0

k log 2 log 3 x = 0

72x − 9x − 8x + 1

√2 − √1 + cos x

√2

18√3

24√2

https://dl.doubtnut.com/l/_ZALcRtM6fQAW
https://dl.doubtnut.com/l/_EFoFVjEXXhVR


72. If  is continuous such that 

 and 

f(1) = 2 then f(100) =

A. 100

B. 50

C. 200

D. 0

Answer: C

Watch Video Solution

f :R → R

f(x + y) = f(x) + f(y)x ∈ R, y ∈ R

73. Let f be a non zero continuous function satisfying f(x+y)=f(x) f(y) for all

. If f(2)=9 then f(3) is

A. 1

B. 27

x, y ∈ R

https://dl.doubtnut.com/l/_dZbj4O41cwjr
https://dl.doubtnut.com/l/_mceKZgpfIWpb


C. 200

D. 0

Answer: B

Watch Video Solution

74. Given that the function f defined by  is

continuous. Then the value of k is

A. 2

B. 3

C. 4

D. 

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

2x − 1 if x > 2

k if x=2

x2 − 1 if x < 2

−3

https://dl.doubtnut.com/l/_mceKZgpfIWpb
https://dl.doubtnut.com/l/_ZJXnv0TzdxF4


75.  if x = 2 , f(x) is

continuous at x = 2 then

A. 5

B. 7

C. 11

D. 15

Answer: B

Watch Video Solution

f(x) =  if  x ≠ 2, = k
x3 + x2 − 16x + 20

(x − 2)
2

76. If  is continuous at x=5 then

f(5)=

A. 0

B. 5

f(x) = for x ≠ 5 and f
x2 − 10x + 25

x2 − 7x + 10

https://dl.doubtnut.com/l/_8I0JaKSKM8YJ
https://dl.doubtnut.com/l/_Nrff23jciB2w


C. 10

D. 25

Answer: A

Watch Video Solution

77. Let , the value of f (1)

A. n

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = , x ≠ 1
x + x2 + ... + xn − n

x − 1

n + 1

2

n(n + 1)

2

n(n − 1)

2

https://dl.doubtnut.com/l/_Nrff23jciB2w
https://dl.doubtnut.com/l/_BYkLCDDj8KHN


78. If the function  is

continuous at x=0 then k=

A. 3

B. 6

C. 9

D. 12

Answer: B

Watch Video Solution

f(x) =  for x ≠ 0 and f(0) =
sin 3x

x

k

2

79. If  is continuous at x = 0

then find k.

A. 

B. 

f(x) = {
for−1 ≤ x0

2x2 + 3x − 2 for0 ≤ x ≤ 1

√1 +kx− √1 −kx

x

−4

−3

https://dl.doubtnut.com/l/_ebmC6nZQpHjp
https://dl.doubtnut.com/l/_i6DnAex7Oeam


C. 

D. 

Answer: C

Watch Video Solution

−2

−1

80. If  is defined by 

 


continuous on [ -2, 2] then c is equal to

A. 3

B. 

C. 

D. 

Answer: B

Watch Video Solution

: [ − 2, 2] → R

f(x) =
⎧
⎨
⎩

 for−2 ≤ x < 0

 for 0 ≤ x ≤ 2

√1 + cx− √1 − cx

x

x+ 3

x+ 1

3

2

3

√2

2

√3

https://dl.doubtnut.com/l/_i6DnAex7Oeam
https://dl.doubtnut.com/l/_6DeJ073fe5AQ


81. Let f(x)=-2 sin x, if

. The value of d and b so that f(x) is continuous everywhere are

A. a=0,b=1

B. a=-1,b=1

C. a=-1,b=0

D. a=-1,b=1

Answer: D

View Text Solution

x ≤ , f(x) = a sinx + b,  if , f(x) = a sinx + b,  if ( − π / (2)
−π

2

−π

2

82. If [x] denotes the greatest integer not exceeding x and if the function

f defined by  is continuous at x = 0, then the

ordered pair (a,b) is equal to

f(x) = {
x < 0

b tan x ≥ 0

a+ 2 cos x

x2

π

x+ 4

https://dl.doubtnut.com/l/_6DeJ073fe5AQ
https://dl.doubtnut.com/l/_26dGuTajguEu
https://dl.doubtnut.com/l/_R29XgBhdtzo3


A. (-2,1)

B. (-2,-1)

C. 

D. 

Answer: B

Watch Video Solution

( − 1, √3)

( − 2, − √3)

83. The values of p and q for which the function

 

is continuous for all x in R, are

A. 

B. 

C. 

D. 

f(x) =
⎧⎪
⎨
⎪⎩

x < 0

x > 0

sin ( p+ 1 ) x+ sin x

x

qx+ x2
√ − √x

x3 / 2

p = , q =
3
2

1
2

p = , q =
1
2

3
2

p = , q = −
1
2

3
2

p = , q =
5
2

1
2

https://dl.doubtnut.com/l/_R29XgBhdtzo3
https://dl.doubtnut.com/l/_r6qC7eyZHpIc


Answer: A

View Text Solution

84. Let  is defined by f(x)= {{:(,alpha+(sin [x])/(x),if x gt 0),(,2,if x

=0),(,beta+[(sin x-x)/(x^(3))], if x lt 0):}

beta-alpha=`

A. 

B. 1

C. 0

D. 2

Answer: B

View Text Solution

f :R → R

where[y]de¬esthe∫egralpartofy. Iffiscont ∈ uousatx = 0, then

−1

https://dl.doubtnut.com/l/_r6qC7eyZHpIc
https://dl.doubtnut.com/l/_2iw7KqCbQbLO


85. If R  R b e defined f(x)=  is a

continuous function show that

A. b=2 log |a|

B. 2b=log |a|

C. b=log |2a|

D. 

Answer: A

Watch Video Solution

→ {
a2 cos2 x + b2 sin2 x if x ≤ 0

eax+ b if x > 0

b2 = log|a|

86.  


can be made continuous at x = 0 by defining f(0) as

A. 2

B. 

C. 0

f :R − {0} → R  given by f(x) = −
1

x

2

e2x − 1

−1

https://dl.doubtnut.com/l/_BrJZJX6E9b5F
https://dl.doubtnut.com/l/_cUSZx6HnzEJ2


Exercise 2(Special Type Questions)

D. 1

Answer: D

Watch Video Solution

1. I.  


II. If  then the

equation whose roots are 1/l, 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

Lt
x→ 0

(1 + x)
2

− (1 − x)
2

− 2

(1 + x)
3

− (1 − x)
3

− 3

f(x) = and Lt
x→ 2

f(x) = l, Lt
x→ 0

f(x) = m
4 − 7x

3x + 4

1/m  is x2 − 1 = 0

https://dl.doubtnut.com/l/_cUSZx6HnzEJ2
https://dl.doubtnut.com/l/_7FeG7P1zm13F


View Text Solution

2. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Watch Video Solution

Lt
x→ 0

x sin( ) =
1

x

3. I. If  


II. 

A. only I is true

B. only II is true

a > 0  then Lt
x→ ∞

= a
[ax + b]

x

Lt
x→π / 2

[sinx] =

https://dl.doubtnut.com/l/_7FeG7P1zm13F
https://dl.doubtnut.com/l/_l52lQcH13ZV0
https://dl.doubtnut.com/l/_3RpJnwoapoPR


C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

4. I.  does not exist 

II.  does not exist.

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: D

View Text Solution

Lt 
x→ 0

√s

Lt
x→ 1

|x|

x

https://dl.doubtnut.com/l/_3RpJnwoapoPR
https://dl.doubtnut.com/l/_wpYpYptv3NUB
https://dl.doubtnut.com/l/_jYC3EeQoENnR


5. I.  


II. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

Lt
x→ 0

= log3 e
loge(1 + x)

3x − 1

Lt
x→ 1

(log5 5x)logx 5 = e

6. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

lim
n→ ∞

=
1.1! + 2.2! + 3.3! + ... + n. n !

(n + 1) !

https://dl.doubtnut.com/l/_jYC3EeQoENnR
https://dl.doubtnut.com/l/_qQotiHJlfJmA


Answer: C

Watch Video Solution

7. I. The function  


II. The function  is continuous at x=0.

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

f(x) = √x  is continuous at x=0

f(x) = |x|

8. The function f(x) = for x ≠ 0, f(0) =  at x= 0 is 
1 − cos ax

1 − cos bx

a

b

https://dl.doubtnut.com/l/_qQotiHJlfJmA
https://dl.doubtnut.com/l/_5aY1rnywLiOl
https://dl.doubtnut.com/l/_vSoFJuhFrgAA


A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Watch Video Solution

9. I.  


II. Every identify function is continuous on R.

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: B

Lt
x→ ∞

= 1
sinx

x

https://dl.doubtnut.com/l/_vSoFJuhFrgAA
https://dl.doubtnut.com/l/_CVl3wCzuM0Ax


SET-3Match The Following

Watch Video Solution

10. I.  


II. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

Lt
θ→ 0

=
sin(θ2)

θ

π

200

f(x) = x2 sin(1/x)(x ≠ 0)  is a continuous at x=0

https://dl.doubtnut.com/l/_CVl3wCzuM0Ax
https://dl.doubtnut.com/l/_7aSXE8vA5q0H


1. Match the following

A. a,b,c,d

B. c,b,d,a

C. b,a,d,c

D. a,b,d,c

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_GI7Vj4Ga5dPp


Set -4

2. Match the following

A. a,c,b

B. b,c,a

C. d,c,b

D. c,d,a

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_fG4e89jL8vZg


1. Assertion (A) :  


Reason (R) : Limit of a function doesn't exist if left and right limits exists

and are not equal the correct answer is

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

Ltx→ 0 = 1
|x|

x

2. A:  


R: 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

Lt
x→ 0

( =
sin(x2)

x

π

200

Lt
x→ 0

= a  if x is measured in radains
sin(ax)

x

https://dl.doubtnut.com/l/_WNqxs6SQWJmE
https://dl.doubtnut.com/l/_fZ83RyV2BSwS


C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

3. A:  


R: If 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

Lt
x→π / 2

( ) = 1
cot x

π/2 − x

Lt
x→ a

f(x) exists, then Lt
x→ a

f(x) = Lt
x→ 0

f(a + x) = Lt
x→ a

f(a − x)

https://dl.doubtnut.com/l/_fZ83RyV2BSwS
https://dl.doubtnut.com/l/_nvKbfNd7MLRR
https://dl.doubtnut.com/l/_LYnWqpuFp4kO


4. A:  


R: If  and g(x) is bounded on a deleted neighbourhood ofa

then 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

Lt
x→ ∞

x sin = 0
1

x

lt
x→ a

f(x) = 0

Lt
x→ a

f(x)g(x) = 0

5. Show that the function  is

continuous at x = 0

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

f(x) =
x

1 + e1 /x, x ≠ 0, f(0) = 0

https://dl.doubtnut.com/l/_LYnWqpuFp4kO
https://dl.doubtnut.com/l/_wnW1GYxEtuBT


C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

6. A: f(x)=x-[x] is discontinuous at x=2 

R: 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

View Text Solution

Lt
x→ a

f(x) = f(a)

https://dl.doubtnut.com/l/_wnW1GYxEtuBT
https://dl.doubtnut.com/l/_ApUgzZyH6Mxq
https://dl.doubtnut.com/l/_Uc954dIWNzW1


7. A:  is right continuous at x=0 


R: 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

f(x) = (x ≠ 0) and f(0) = 0
1

1 + e1 /x

Lt
x→ 0

1

1 + e1 /x = 0

8. Let  be a continuous function defined by 

Statement -1 : , for some . 


Statement -2, .

A. Statement-1 is true, Statement-2 is true, Statement -2 is a correct

explanation for statement-1

f :R → R f(x) =
1

ex + 2e−x

f(x) =
1

3
c ∈ R

0 < f(x) ≤ ∀x ∈ R
1

2√2

https://dl.doubtnut.com/l/_Uc954dIWNzW1
https://dl.doubtnut.com/l/_KhKV1DlU52ri


B. Statement-1 is true, Statement-2 is true, Statement -2 is not a

correct explanation for statement-1

C. Statement-1 is true, Statement-2 is false

D. Statement-1 is false, Statement- is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KhKV1DlU52ri

